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o Note from the author:

About ...
Help Me at Home Student Workbooks

This resource is one of a series of 8 resources written to support the Numeracy Project
> currently being implemented within many New Zealand schools and covers the
achievement objectives as outlined in the Mathematics in the New Zealand Curriculum
o= (2007 revised edition) document for the teaching areas or strands of ...

'~ Number & Algebra, Measurement & Geometry and Statistics.

Note: The Number Knowledge section covers many of the Number & Algebra Achievement Objectives.

Background Information:

The Numeracy Professional Development Project beirg implementecd in riany schools
involves a knowledge section and a strategy section.
The knowledge section introduces and revises the kiy nunmizer knowledge facts ioailired.

The strategy section describes the mental processcs sludents employ to.estimate answers and
solve problems involving the four operations of addition, subtraction, riditiolieation and division.

The strategy stages are listed in this table elov

The aim of this project is to equip stueieris with various strategices that allow them to 2¢ successful
at Mathematics.

In order for this to occur, it i¢ e-seinual for studenis (o be confident with number knowledge.

Ew trotegy Stages
0] - ) _Emergent ¢y |
1 | b One-to-one f.ounting
2 Counting from Che on Materials
|3 Couruig h_m One by Imaging
4 A 1va.—‘e\_ Counting (Counting On)
5. Early Additive Part-Whole
50 J Advanced Additive Part-Whole
| 7 Advanced Multiplicative Part-Whole
8 Advanced Proportional Part-Whole

Without the 'knowledge’, that is knowing the basic numeracy facts, it is difficult for a student to
progress through the strategy stages. Students move through the strategy stages at different rates
and may be working at different stages given a certain problem. This is often a result of gaps in key
knowledge, hence it CANNOT be stressed enough the importance of learning the numeracy facts.
How your child learns the numeracy facts is not as important as knowing them.



How to use this resource

40x Number Knowledge

Worksheets Section

(Pages 8to 12, 14 to 18, 20 to 24 & 26 to 30)

The 40 worksheets in this section
systematically introduce and revise numeracy
facts and number knowledge strategies.

Presented in different formats, these
worksheets are designed to reinforce the
Numeracy Development Programme. It is
intended that one worksheet per week is
completed in the order presented, from
worksheet 1 to worksheet 40. |

One worksheet from the Curriculum Strand
Worksheet section is selected to be < or»
in conjunction with the Number Knou/'aa e
Worksheet.

Book 8 covers the Strateqy . tages 6 to 8.
- 4

—_

One Worksheet from each sectic htove completed each we -k |

r ———————— =

~

40 Curriculum Suv and

-~

Worksheels section
(i 24 to 73)

The 40 woiksihiees in this seciion cover the
Achievement Cbjectives as ouilined 1i
Mathemadcs in the New Zealand
Curricuium for Numiber & Algeora,
Measurement & Geomelry and Statistics.

These worksheets eiin e completed in any
order.

The Curriculum Strand Worksheet selected is
to be done in conjunction with the Number
Knowledge Worksheet.

The Curriculum Strand Worksheet selected
relates to the topic being covered at school or
as revision.

Book 8 covers Level 5 of the Curriculum.

4x Number
Knowledge
Progress

Assessments
(Pages 13, 19, 25 & 31)

AiL bral progress assessme it
is available after eve
10 Miinber Knowledge workco!icets.

Note to Paleiits /. Care-givers:

. Sticeess . in mathematics..is greadly
nhainiced by  havinc a good
understanding of Nuriiber Knowledge.
That is, from beina@hle io add, subtract,
multiply and divide witl confidence, ....
with success«.. Comes enjoyment.

. The aim, ol this/resource is to provide
you with a systematic and
comprenensive series of worksheets,
o'fefing, you guidance as to how
mathematics is taught within schools.

° ~ach strand worksheet has an
EXTENSION activity for you to do
with your child to reinforce ideas
covered in the worksheet.

How can you help?

. Sit with your child as they work through
each worksheet. Help them to
understand what is required from each
question, but try to avoid telling them the
answers.

Numeracy Facts:

At the back of this resource there is a table of
ALL numeracy facts introduced in this
resource.

These tables can be used when assessing
your child's Number Knowledge skill level.

There is also a 1 to 100 number matrix to
assist your child to count in 1's up to 100.




Curriculum Curriculum
Page KrI:I(;]vr\]/]tejggrge WStLaEd Tick when Page KrI:I(;]vr\]/]tejggrge WStLaEd Tick when
orksheet orksheet
Worksheet Enter the worksheet Completed Worksheet Enter the worksheet Completed
number number
you are doing this week you are doing this week
8 1 20 21
8 2 20 22
9 3 21 23
9 4 21 24
10 5 22 25
N N
10 6 22 2€
11 V4 3 27
11 8 23 og |
\%4 oo ’) |
12 o 24 Val, ‘
12 | 10 | 241 30
- _ ’_ - AR
13 Number Knowledae Progress o5 Number Kiiowicaye Progress
Assccoment 1 Aosesament 3
14 1L 26 21
14 12 26 32
15 | 13 P27 | 33
0 - - e I
15 14 27 34
16 15 28 35
16 16 28 36
17 17 29 37
17 18 29 38
18 19 30 39
18 20 30 40
19 Number Knowledge Progress 31 Number Knowledge Progress
Assessment 2 Assessment 4
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Revision

Addition & subtraction
strategies

Multiplication & division
strategies

Working with decimals

Powers & Order of
operations

Decimal place / Significant

figures

Fractions / decimals /
percentages

Equivalent fractions /
simplifying

More fractions

Working with pcrceiitages

Pgosiiive & negative
wuinmbers / Integers

Standard form G Grdinary

numbeis

(atio & rates

Nimuoer patterns or
sequences

‘Like’ terms, expanding &

facion:ing

Solving linear equations

Plotting ordered pairs /
linear graphs

The metric system

2-D and 3-D shapes / Nets

Perimeter

Tick
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Area - Square / rectangle /

triangle

Area - Parallelogram /
trapezium / circle

Circles - circumference &

area
Volume

Reading and drawing
angles

Angle rulerevision

Interior angle stiin of
palygons

Angics & parallel lines

compass points arid!
compass beaiinos

Constriicuons & loci

Pythagoras and
irilgonometry ratios

Using trigonometry ratios

Reflection & Rotation

Enlargement & Translation

Mean, median, mode and

the range

Discrete / continuous data

and histograms

Graphs - 1

Box & Whisker graphs and

Pie graphs

Probability calculations

Finding outcomes &
probabilities

Tick




Number Knowledge Worksheet Section

The following activities are covered in worksheets 1 to 10:

. EIGHTY activities involving ...
o skip counting in multiples, stating numbers that come before after or between given numbers;
o writing decimals as number words and number words as decimals;
o ordering numbers and decimals;
o adding numbers in a matrix;
o exploring place value using money, whole numbers and decimals,
o rounding numbers to the nearest 10, 100, 1000, 10th or 100th and finding estimated answers;
o finding a fraction of a group of shapes, a whole number or a decimal and cieating equivalent fractions;
o Finding the multiples or factors for given numbers;
o converting between improper fractions and mixed numbers;
o converting between commonly used fractions, decimals and perceiiages;
o finding a percentage of a whole number or decimal;
o finding the square or square root of a number;
o adding and subtracting integers;

. Using appropriate number strategies to revise the iumber combinations that.«itid up to and include 18, including
subtraction combinations.
Example: 93.04+40.6+83=__ « [, 2475+ #69 & 130 .45 ¢te.

. Using appropriate number strategies to revice iultiplication andidivision facts up to 10 x 10.
Example: 368 x5=(__ Y (. x__ et

The following activitiec are covered in worksheets 11 to 20:

. EIGHTY.activitiec involving ...
o Ekip_eoundig in multiples, statirig nuriibers that come before after v between given numbers;
o wiiling fecimals as number words @ihd number words as detimals;
o ordeting numbers and deciinals;
o adding numbers i1 a matrix;
o exploring place value using money, whole nimiers and decimals,
o rounding Giumbers tarifie nearest 10,7100, 1000, 16th or 100th and finding estimated answers;
o finding a fractioh of a group of shapes, @ whalc number or a decimal and creating equivalent fractions;
o finding thic multiples and factors for diven nuribers;
o conveliing between improper fractioric .and mixed numbers;
o multiplying and dividing large numbers or decimals by 10, 100 or 1000;
o ordcr of operations; EEDMAS:
o converting between cominionly used fractions, decimals and percentages;
o finding a percentage ¢ a whole number or decimal;
e finding the square or square root of a number;
o adding and subtracting integers;
= completing ratios;
e solving equations;
= simple word problems.

. Using appropriate number strategies to revise the number combinations that add up to and include 18, including
subtraction combinations.

. Using appropriate number strategies to revise multiplication and division facts up to 10 x 10.




The following activities are covered in worksheets 21 to 30:

. EIGHTY activities involving ...
o skip counting in multiples, stating numbers that come before after or between given numbers;
o writing decimals as number words and number words as decimals;
o ordering numbers and decimals;
o adding numbers in a matrix;
o exploring place value using money, whole numbers and decimals,
o rounding numbers to the nearest 10, 100, 1000, 10th or 100th and finding estimated answers;
e rounding numbers and decimal using decimal places or significant figures;
o finding a fraction of a group of shapes, a whole number or a decimal and creating equivalent fractions;
o finding the multiples and factors for given numbers;
o converting between improper fractions and mixed numbers;
o multiplying and dividing large numbers or decimals by 10, 100 or 1000;
o converting between ordinary numbers and standard form;
o order of operations, BEDMAS;
e converting between commonly used fractions, decimals and percentzges;
e finding a percentage of a whole number or decimal;
= finding the square or square root of a number and otherfowel <;
= adding and subtracting integers;
= adding and subtracting simple fractions;
= completing ratios;
= solving equations involving mixed number answers;
= simple word problems, some involving rates.

. Using appropriate number strategies to fevisc the number combinations that add up to and incliide 18, 4ricluding
subtraction combinations.

. Using appropriate number strategics o revise multiplicatioii aric division facts up to. 20.x 10

The following activities are covered in worksheeis 31 to 40:

. EIGHTY activilies invaiving ...
o skip'couiniing in multiples, stating numibers ifiat come before after ¢t hetween given numbers;
o wriling decimals as numberdvards and fiumber words as decimals;
o orderingdiumbers and decliniale;
o adding numbers in amatrix;
o exploring place yalia using money, whole numbers aid decimals,
o rounding numbets to the fearest 10, 100, 1000, 10t or 100th and finding estimated answers;
o rounding nutibers and decimal using aecimialiaces or significant figures;
o finding a {facton of a group of shapes. a whole nuinber or a decimal and creating equivalent fractions;
o finding the nivitiples and factars for given numbers;
o converting hetween improper ticictions and mixed numbers;
o multiplying and dividing. large huriibers or decimals by 10, 100 or 1000;
o converting between oidlinans nuinbers and standard form;
o order of operations, BEDVIAS,
e converting between coninonly used fractions, decimals and percentages;
e finding a percentage of a whole number or decimal;
= finding the square or square root of a number and other powers;
= adding and subtracting integers;
= adding and subtracting simple fractions;
= completing ratios;
= solving equations involving mixed number answers;
= simple word problems, some involving rates.

. Using appropriate number strategies to revise the number combinations that add up to and include 18, including
subtraction combinations.

. Using appropriate number strategies to revise multiplication and division facts up to 10 x 10.
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A
1 Term: Week: AWS ’
(M Write in the missing humbers as 5)  Adding large numbers. 252
ou skip count in 9's.
yorsKp 31434732+ 13 = 63
10936
18, : 471+ 26 +534 =
1 + bBl2
81, : 72+ 494 + 4124 =
@  Round these numbers to the nearest 10. (6)  Subtracting large numbers.
231~ 683 - 1298 - 53 = 5647
13427 - 965 = - 482
1465 = 3249 =
27385 - 3621 =
- (M Multiplying lchge nimbers using nlacz value.
(€ Pliing lcng
What fraction of each group Examplen. 251 3 (200 x 3) + (30 x 3) + (1« )= 6001 90 + 3 = 693
of shapes is shaded? Simplify.
0 ,A\/ Y YT 34¢ = X__ )+ (o> )+ (o x__
$A8L000 a )» O (—x )
NAA N A AN A _ _
(\"'\"%‘/\%‘(\"%\"\y/\y/ Y = 3 |+ =
@ Fill in the missing fraction | decimal | p-—*ag | (8  Dividing la#ge nunbers.
fractions, decimals Y, < I A ) i 7N
or percentages. N )7 B 6 51275
L 4 60% ) “
AP il 3)6 12 4)2684
Copyright ©,007 AWS Publications Ltd e W JU This page CANNOT be photocopied
8 Term: ’ 7' ;eek: Aws
— a L 2 | ——
M Writé these numuers in order > 025 || Adding large numbers. 1675
fl"(. st .a”eb~ ro |Cll"geS'|' . 206 51\2 + 14 + 2738 - 81
Y 2 32523
?L- ' 535 + +47 = 3412
2004 + 426
: 1 : ™ 4 41+972+_____ =1670
@  List the'first 5 nultiples of these numbers. ®  Subtracting large numbers.
oo -4 3286 - = 2516 15539
- 2608 = 974 -
7= 10 -
- | 21573 - =19706 6351
(®  Round these numbers t¢ the nearest 100. ™ Multiplying whole humbers. 920
x 23
563 = 946 = 579 341
x5 x 6
1470 = 2150 =
(@) Convert these percentages to decimals. ®  Dividing large numbers using multiples of 10.
Example: 145 = 5 = (100 = 5) + (45 + 5) = 20 + 9 = 29
50% = 80% = 25% =
436 = 4= ( - )+ ( + )
37%= 75% = 8% =
= + =

Copyright ©,007 AWS Publications Ltd

This page MUST NOT be photocopied




A
3 Term: Week: AWS ’
) skip counting in 8's, write the number g5, |()  Adding decimals. 341.8
that comes after ... 2.8
- 93.04+406+8.3= :
5291.0
24, 64, 72, 494 +5+387 =
+ 38.4
59+186+943 = -
(®  Round these numbers to the nearest 10 or 100
and then work out an estimated answer. (6)  Subtracting decimals.
89 + 104 + 493 = . . : 3162-294-= 38.95
578.27 - 85.84 = -7.28
1308 - 783 = - =
298.62 - 439 = -
3 i
Shade in part of each group of shapes to show ™ Multiplyiad larde nuribers using tidy! numibrs.
you understand these fractions. Examplec236 5 3500 x 3) - (4 x 3) = 900 1* - 85¢
» UUUOUL s © S | ) ) )
_ [ ”~ - X - X .
- 000000 N
HinEnnn Slelelare - -
(@  Convert these decimals to percentages. (8  Dividing decimals.
05 075 gath 3 % e A8 T8
0.67 = 0.09 = 06
€)35.4 7)2.702
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
o Q@ @\ r
'. Term: ‘ “" eek: Aws
M Werite thesa nunbe’ words as a numeial. )  Adding dacimals. 65.81
2R _ 0.35
six hundred and two thousind. seveii nundred glg + 58.3 + 72 =
) 472.07
247575 + +69 = 130.45
and twenty-ine + 3.98
A 54 +9.4 + = 81.13
|
(@  Round these number: to the nearest 1000, ©  Subtracting decimals.
638G 18¢3 = 3 147.1 - =719 188.35
32496 10285 - 64.38 = 509.36 -
264.17 - - 21857 2379
3 it wati
Add these positive and negative numbers. ™  Multiplying decimals. 415
0 ° ° ° 10 53.8 972 X713
5+9= . 8+7= x 4 x 6
_
13+79= & 3+712 =
@  Find the square of these numbers. (®)  Dividing large numbers using 'tidy’ numbers.
Example: 33=3x3=9 Example: 195 +5=(200+5)-(5+5)=20-1=19
6%=__ mwe=___ 232+ 8= ( 5 )- ( + )
32z 15° = = - =

Copyright ©,007 AWS Publications Ltd

This page MUST NOT be photocopied




A
5 Term: Week: AWS ’
(M Skip counting in 7's, write the humber ﬁ (6)  Adding large numbers. 437
that comes before ... ¢
L 762 + 4835 + 24 = 12580
22
, 56 .35 .91 74 +232 +3489 =
+ 508
6941+ 86 +119 =
(3 What is the place value of the BOLD digit and
what does it mean? (6)  Subtracting large numbers.
Example: In 452 the place value is 10's and it means 50.
291 = - 273 = - 1472 - 617 = 13625
24063 - 802 = - 945
635 = = 941 - = -
75085 - 942¢ =
(®  Find each fraction of these whole numbers. ™ Multiplging ldhge rimbers usina pld- = valie.
Examplen. 231 3= (200 x 3) + (30 x 3) + (1 « 3) = 90 +3 =693
1/20f36: 1/4of32: xam, X X 6
694V x_ )+ (o )+ (_x_)
2/3O'f27= 2/5O'f6O=
= + o+ =
@  Convert these decimals to fractions. ®  Dividing large nuinbers, some with remainder .
05 = 0.25-= 0.8 N 8 4 _/ 5
0.75 = 008=__«  G30=
7)6 2 3 9)4839
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
N\ Term: ’ 7' ;eek: AWS ’
O o a L o |
@  List thefactors or these numbers. (5)  Adding large numbers. 541
\ i 413 + 4690 + 79 = 3949
10=_ iD= 73
i+ + 3176 = 3901
24 = . + 260
2358 + 89 + = 3049
(€) winhen 1
Round these numbers To jrhe nearest 10 o 100 ©  Subtracting large numbers.
and then work out an estimated answer.
7238 - = 7153 3958
35( *-1\"*95: +_ .t = '649:3263 -
4867 - 708 = Q - 11090 - -gre7 3799
(®)  Convert these improper: fractions to ™  Multiplying whole numbers. 742
mixed numbers. Example: 1/, = 2%/, _ 3’ X 76
. s N 193 257
/4= /7= >/ 8 o
34, = 4/ = \(g
@ Convert these fractions fo decimals. ®  Dividing large numbers using multiples of 10.
Example: 145 = 5 = (100 = 5) + (45 + 5) = 20 + 9 = 29
1/2:7 1/4:7 2/3:7
945 - 9= ( + )+ ( g )
2/5 - 1/zo - 37/1oo e
= + =

Copyright ©,007 AWS Publications Ltd
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A
V4 Term: Week: AWS ’
() Skip counting in 6's, write the number (5)  Adding decimals. 0.15
that is between ...
93.09 + 6.3 + 280.8 = 368.25
4860, 90___ 102, 24___ 231438274+ 699 = 0.57
+ 17.80
5.205 + 6.78 + 14.67 =
(2  Round these numbers to the nearest 10th.
(6)  Subtracting decimals.
2:43= 3.74 = 301.8 - 47.4 = 584.06
37.86 = 60.15 = 358.70-77.32 = - 37.85
1526.73 - 2B4.¢ = -
(3) . . .
What is ‘rhfa place—)value of the BOLD digit and ™ Multiplyiag larde numbers using ‘tidy. aumbers.
what does it mean: Example296 » 327500 x 3) - (4 x 3) = 900. 12 = 86¢
Example: In 452 the place value is /10's and it means %/1o.
346 - = 7.82 = = 588 = ( X )-(C % )
1258 = = 39.31= = = - =
(4)  Find the square root of these numbers. @®  Dividing decimals.
Example: N9=3as3x3=9
81 = V16 = - 3.8 4 7)1 756
V64 = Nt 0149 .6 9)37.53
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
o Q@ QN r
n Term: ‘ “" eek: Aws
@ Write these nunbei” words as decimal ®  Adding dacimais. 1.80
numérals
{674+ 254+ 826 = 3.51
. 5 48.47
nine point three zero scvicn B 2214 + +9.35 = 675.09 os
+ .
forty-five point ght three 168.6 + 4459 + = 233.47
)
@  Write two larger equivalent fractions. ©  Subtracting decimals.
357.8 - = 2849 738.5
5
i:—:— -8 - -487.2 =279.67 -
3 R 2916.7 - = 2566.91 678.9
(®  Round these numbers to i'ie nearest 100th. ™ Multiplying decimals. 53.8
4,
0.138 = 7145 = 35.8 1.94 x4.9
x 5 x 8
50.342 = 23.0129 =
(8) o o ge . Ny )
(4)  Convert these fractions to percentages. g:;;glnglglglrge (23(;‘1 b;?éﬁ')rlgzof_'?z lgumber‘s.
1 - 1 - 2 -
/2= fas /8% —— 873:9=(___+__ )-(__+_ )
sz M= Plg= - _ -

Copyright ©,007 AWS Publications Ltd
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A
Term: Week: AWS ’
(M Skip counting in 7's, write the humber ) Adding large numbers. 370
that comes after ... 67
157 + 1349 + 23 =
2585
49, 77, 28, 90 + 748 + 2935 =
+ 915
1376 + 20 + 398 =
@ Round these numbers to the nearest 10th and
then work out an estimated answer. ®  Subtracting large numbers.
1219 + 5.83 = . 3 4026 - 376 = 42000
5802 - 816 = - 975
1484 -9.07 = - z
10393 - 237
®3) Find each fr‘ac'ﬁon Of These deCimGIS. @ Mulfipl 4 |g I ‘96 n i‘nbers usipq r\IG 2 volle.
Examples 251 %3+ (200 x 3) + (30 x 3) + (1« 3) = 6007 90 + 3 = 693
1/3O'f27= 3/4O'f36=
64ce V= x_ )+ (o ) (x_)
°/g of 40 = /7 of 49 = ) B}
= + o+ =
@ Add these positive and negative numbers ®  Dividing large numbers.
- ——
10 5 0 5 1 - A W —
V)44 1 6,32L8
7 +12 = B +9=
11+712 = 9% 12= 3)520 7)4473
Copyright ©,007 AWS Publications Ltd ) This page CANNOT be photocopied
N\ Term: ’ 7' ;eek: AWS ’
AW A a e o | ———
@ Write these deciiials as number wirds. (5  Adding large numbers. 158
2.5 182 + 1312 + 54 = 3564
27
o7+ +1398 = 1672 318
+
0.069 2382+ 45 + -2613 ———————
@ What is the (icie value of the BOLD digit dnd™ ) Subtracting large numbers,
what does (b hiean?
Example: Tn 452 he place value is /10 and it meais %/10. 2986 - = 2302 3637
2.9 z A8 = - 358 = 4419 -
16.39 = = 6= = 5633 - - 3298 _ 2241
3  Convert these mixed nuinbers to ™ Multiplying whole numbers. 853
improper fractions. cxample: 42/5="/; éﬁ’ 269 326 x 67
3Ys = 734 = >/ X 4 x 9
6%/3 = 4/ = \
(4  Convert these percentages to fractions. ®  Dividing large humbers using multiples of 10.
Example: 145 =5 = (100 = 5) + (45 < 5) = 20 + 9 = 29
50% = 40% = 75% =
1648 -+ 8 = ( + )+ ( * )
47% = 64% = 6% =

Copyright ©,007 AWS Publications Ltd
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Number Knowledge Progress Assessment 1

Practical / oral assessment: Ask each question as outlined below. Record the results by circling yes or

. . L Result
Practical / Oral Questions (Supply your child with some paper) (Cﬁilue)
Skip counting in 4's, 6's, 7's, 8's and 9's, ask your child to recite a forward and backward
1 : . yes / no
sequence of at least the first 10 multiples for each number.
> Skip counting in 4's, 6's, 7's, 8's and 9's, ask your child to write a forward and backward es / no
sequence of at least the first 10 multiples for each number. y
3 Write up to 10 2, 3, 4 or 5 digit numbers and ask your child to round each number to the nearest 10, s/ no
100 or 1000. y
v v v
8 +18 =26 21-7=14 8+16="2 24-2=22 '
25-6=19 13+4=17 % -8-028 8+17=25 '_' |
9+14=23 29-8=21 +31 =38 2547=18 I
23-2=21 28+2 =30 02-5=27 2+3i '39[
31+3=34 21-9+- 12 19+7=26 22-3=19
25-2=23 18 =22 30-6=24 l16-6:22
Addition and subtraction 7415 =29 3 = 24 15 + 5 -8 T 87.2=35
numeracy facts. j
4 2647=19 L 44 +1=145 24 7=17 19+6=25 , |yb,1no
Tick each correct answer. &r N\ 43-8=35 L S0 44-6=34, |
SU-9=21 34+4=38 37-6=31 13 +R8 =21
l15+8=23 23-4419 17 +6 =23 36 5=31
-b= 1 =2 -9= | - 9= ]
_3617_|9 19 48 -9 =39 -1921_
4+25:29F | 20823 3+23=25 1 [41-8=33
32-6=26 9+13=22 44-5:,6'_ 7+17=24
14+7=21| | 38-9=29 +18=24 31-6=25
1B-2 16| 23+7=30 20-3=25 29+9=38
| T v K v v
10 x6 =60 8. =3 5x8=40 7x7=49
16+8=2 1+7=3 54+6=9 12+4=3
4x, 6X, 7X, 80 & 9. (= — —
multiplication aha division 7x8=86 : 3x6=18 4x7=28 | | 8x9=72 | |
facts. 240 4=6 lB81:9=09 70+7=10 40 +4=10
8x8= 64 7x5=35 8x6=48 4x4=16
Ask theSe iacts one of several vi6=5 | | 3ps4= oa-8=3 | | 142722 | |
ways, s ... *6=5 1 | 32-4=8 *8=3 | | B
9x3=27 2x8=16 7x3=21 9x6 =54
5 “What does 4 multiplied by 9 63+7=9 42+6=7 20+4=6 36+6=6 yes/ no
f?H — — M
equal 10 x4 = 40 4x6=24 10x 8 =80 7x10=70
. 54+9=6 40+8=5 72+9=8 60 +6=10
“What does 36 divided by 4 — — —
equal?” 7x2=14 5x6=30 4x8=32 3x8=24
18+6=3 28+4=7 80+8=10 56+7=8
“What number multiplied by 4 | g6 =36 7x9=63 7X6=42 4x5=20
gives you an answer of 36?” — — —
35+7=5 48 +6=8 16+4=4 64+8=8
4x3=12 2x9=18 9x5=45 4x9=36
36+4=9 72+8=9 49+7=7 63+9=7




A
11 Term: Week: AWS ’
(1)  Solve these equations. (6)  Adding decimals. 9.5
4d+13:49 d= 56.84 +530.23 + 9.7 = 4133.5
715
27419+ 6.2 +9358 =
7k-19=37 k= Teer + 621.1
8.7 +39.6 +624.1 =
(@  Round these numbers to the nearest 10. (6)  Subtracting decimals.
362 - 257 = 148.45 - 527 = 148.83
64.782 - 1.36 = - 75.96
1846 = 2395 =
9310 -4622¢ =
(3  Find the square of these numbers. (M Multiplging icrge niumbers using ‘tidy' nunibers.
Examplen. 256 53+ (300 x 3) - (4 x 3) = 900 12 = ¢
7%= 9% = 59 x5 = ( X ) _x__)
122 = 202 = N < B}
@  Convert these percentages to decimals. @  Dividing decima
25% = 30% - 97 s Henge 737703
124% = 4%=__+  05%= —
9)72.9 8)383.2
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
: N Term: ’ 7' ;eek'
L. - T 0Raiis AWS)
M Write these numbers in order o ) (528 | & Adding decimals. 331.8
from smallest 1o largest.
’ Tl "% 0329 136, + 3242 + 7.65 = >2.7
4l | 324 5120.9
e 1427 + +455 = 15767
0.032 + 479
: _. : . 9.39+46.8 + 30254
@ What isithe place value of the BOLD digit and”  |(6)  Subtracting decimals.
what does i1 maan?
259.34 - = 187.84 397.13
412 = eere = - 2153 = 436.27 -
1348= = w94= : 1788.3 - 16287 52249
. e .
(3  Convert these percentages to fractions. @ Multiplying decimals 741
67.3 3.90 x 6.9
o/ _ 207 _ o/ _
40% = 665% = 5% = x B x 8
17% = 75% = 125% =
8

@ Round these numbers to the nearest 100.

632 = 850 =

1794 =

Copyright ©,007 AWS Publications Ltd

1469 =

-14 -

Dividing large numbers using 'tidy’ numbers.
Example: 195 = 5= (200 +5)-(5+5)=20-1=19

665 =7 =( + )-( + )
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A
Term: Week: AWS ’
Skip counting in9's, write the number 3 5. | ©) Adding large numbers. 5852
that comes after ... 770
' 1943 +32 + 751 =
81, 45, 108, 847 + 5390 + 29 = 36
+ 519
89 +302 +6731=
Round these numbers to the nearest 10 or 100
and then work out an estimated answer. 6  Subtracting large numbers.
78+ 194 +34 = R R - 4620-673 = 27000
7208 - 618 = - 579
6345 - 287 = - =
12393 - 722 = A
Find each fraction of these decimals. (™ Multiplyiag larce nutibers usingplace valu
1 5 Exampler 231 X 520200 x 3) + (30 x 3) + (1> 7)) = 600 J+3=693
/7 0f 5.6 = /50f235=___
276 0= (__x_ )+ (—xa)+(_x_)
?/30f12.9= 7/g of 25.6 = i ) L
Convert these decimals to percentages. ®  Dividing largenutibers with remainders.
0.25= 09=___ Q&= N4 07 6)0.3 06
0.004 = 008 = 270 =
. [ . —_— . - ?
£,68 4 8 i9 207
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
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l!l Term: ‘ “" eek: Aws
Order of aperdrions. @@E} [VMQAA é (5)  Adding lirge numbers. 851
9+30:4 e2-7x9 A5 3421 + 284 = 4653
- 72
) 1853 + +76 =2127
2x7+32=  3(8+403)=__ + 913
283 + 54 + = 3162
|
Round thefe numbers fo the nearest 100 ©)  Subtracting large numbers.
5550 4 910= 6892 - = 2032 6347
12499 NS - 853 =9144 -
O 7336 - - 2389 1422
Find the percentage of thse numbers. ™ Multiplying whole numbers. 806
50%of84=_  25%o0f52=_ 982 745 x 37
10% of 96 = 40% of 70 = x4 x 6
Find the square root of these numbers. ®  Dividing large numbers using multiples of 10.
Example: \9=3as 3 x3 9 Example: 145 =5 = (100 + 5) + (45 < 5) = 20 + 9 = 29
V25 = V49 = 963 +9=( + )+ ( * )
V121 = \400 = = + =

Copyright ©,007 AWS Publications Ltd
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A
15 Term: Week: AWS ’
(M Skip counting in 8's, write the humber (6  Adding decimals. 53.31
that comes before ... 590
7.9 +65.48 + 305.32 = )
533.14
.48 . 120 39.85+24791+26=
+ 12.16
1426 +7.8 +69.3 =
@ What is the place value of the BOLD digit and
what does it mean? (6)  Subtracting decimals.
2934 - : 359 - : 548.41 -9.25 = 3884.1
82.746 - 6.31 = - 695.7
795 = = 6.72 = =
785.00 - 323.64 =
(®  Find the percentage of these decimals. (™ Multiplying lcige numbers using ‘ticy' nuribers.
Examplen 304 3 - (300 x 3) + (4 x 3) = 900 +12 = &
33%%of 12.6 = 20% of 95 =
70950 =( X )+l x )
25% of 0.48 = 80% of 205 =
(4 Convert these decimals to fractions. (®  Dividing decima!
0.6 = 0.17 = 0133 IS 724022
0.08 = 375=___ A 0005= ) A
5)7 8 .5 9)6.048
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
N\ N\ Term: ’ | ;eek'
L. - P, = AWS)
@ Round these umicrs to the nearest 1600100 |(5)  Adding decimals. 31.8
and then worl out an estimated Ghaswe
216+342.2+ 675 = s152.7
256 +107+86= o v+ = 4172+ + 5.45=72176 7.
+ 347.9
6810 - 516 = - 3.93+648 + =20345 —
(@  Multiplyina by 10, 100 or 1000. (6)  Subtracting decimals.
56 « 10= 2.34 » 1000 - 92543 - =78148 739.13
0341000 = 134 %100 = -35.12=63492 -
1298.3 - -52678 _234.49
(®)  Convert these improper fractions to (™  Multiplying decimals. 5 74
mixed numbers. Example: /4= 23/, 9 2
6.78 43.6 X 7
19/5 - 37/8 -
x5 x 8
27/6 - 48/9 -
@ A group of 6 pupils from Room 8 went ®  Dividing large numbers using 'tidy’ numbers.
on a bus ride to the zoo. If this group Example: 195 =5 = (200 =5) - (525) =20 - 1=19
makes up '/5 of the Room 8 pupils, A% o . .
how many pupils are there in Room 8? ¢ 8739 =( - )-( - )

Copyright ©,007 AWS Publications Ltd _16 -
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A
17 Term: Week: AWS ’
() Skip counting in9's, write the number (5)  Adding large numbers. 3418
that is between ... 28
9304 + 406 + 83 =
36 54, 72___ 90, 108__ 494 + 54 + 2387 = 52910
+ 384
59 + 4186 + 943 = —
(@  Round these numbers to the nearest 10th. .
(6)  Subtracting large numbers.
60.92 = 5.374 = 3162 - 294 = 23895
9.765 = 78.049 = 57827 - 8584 = _ - 728
29862 - 429 - -
(3  Solve th ti ith mixed o de
ovl;a ese equations, with mixe (M Multiplying large nuribers using place valu
number answers. ® Examples231 % 3:={200 x 3) + (30 x 3) + (1 ¥ 1) = 600 290 + 3 = 693
7d+21=32 d=
4098 x_ )+ () (x_)
8k -14 =59 k=
= + + = _
(4 Convert these fractions to decimals. @®  Dividing largemutibers with remainders.
1/2: 2/5: 2/2___ A %-—2 — 77‘_3 ‘i_
34 = Tho= ol e
1791 9)4607
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
3 ¢ A - Q
Term: ‘ Week: AWS ’
(M Werite these nunbel words as decimal < 5)  Adding lirge numbers. 6581
numcrals 35
03¢, + 589 + = 6597
hun i roe : 47207
one fifidred point two zeio Cight B 2475 + + 769 = 6045 108
+
sixty-seven point z ro hine five 54 + 2394 + =3213 ——
@  Write twd eauivaich' fractions. 6)  Subtracting large numbers.
1473 - =719 18835
3 2
— s — s — - 6438 = 50936 -
5 7
26417 - - 21857 9379
(®  Round these numbers to 1he nearest 100th. ™  Multiplying whole numbers. 6051
0.056 = 3.961 = 238 517 x 27
45,009 = 23419 = x 8 x 9
) i
g}:ﬂ?j{:ﬁﬁe:ﬁ? Lgt:}:;me w5618, ®  Dividing large humbers using multiples of 10.
Example: 145 < 5 = (100 + 5) + (45 = 5) = 20 + 9 = 29
2:3 = 112 5
424 -8 = ( + )+ ( + )
_:32=18 24:18 = 4.

Copyright ©,007 AWS Publications Ltd
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A
19 Term: Week: AWS ’
() Skip counting in9's, write the number ‘& | © Adding decimals. 462.52
that comes after ... 0.63
= 1443 +732+13 = '
8L, 5, 108, 471+26+8534= 3109.36
+ 4512
72+944+4124 =
@ Round these humbers to the nearest 10th and ) .
then work out an estimated answer. )  Subtracting decimals.
1298 -53 = 564.7
40.29 +8.73 = =
: i 134.27 - 96.5 = - 48.2
3254 -725= - = 27385-36..! =
®  Dividing by 10, 100 or 1000. (M Multiplying iarge niumbers using 'tidy numbers.
Exampia:. 296 %2 - (300 x 3) - (4 x 3) = 9f 12 =
265 =10 = 736 =100 =
850 = ( x )-bax__ )
3.48 - 100 = 412 - 1000 =
@) Add these positive and negative numbers @  Dividing desimals with remainders.
o
10 5 0 5 1 N = = - - - —
)¢ 46 696G 14
9+8= 7 + 1= ¢
/ y 00
8+ 11= gy‘% 43 = 3)87.5 8)7.493
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
N Term: ’ 7' ;eek' ’
5 | 'l 5 Aws
@ Werite these deciinals as number wirds. ()  Adding decimals. 167.5
13 462+ 41+ - 89.983 8.1
Ve 3252.3
— 5.03 + +47 = 314.2
+ 42.6
40.961 41+927 + = 176.0
@ What is the lcie value of the BOLD digit dnd™ | 6)  Subtracting decimals.
what does 1.n12an
32.86 - = 2516 155.39
17¢ = = 2 = -26.08 = 97.4 -
1519=__ = 1954 = = 2157.3 - = 19.706 _ 6351
3  Convert these mixed nuinbers to ™ Multiplying decimals. 0.589
improper fractions. cxample: 42/5="/; é" 489 237 x 4.8
37/g = 4%/ = »)/ x 0.5 x 0.06
(X
5%/5 = 6°/1 = ‘
(@) Convert these fractions to percentages. ®  Dividing large numbers using ‘tidy’ numbers.
Example: 195 = 5= (200 +5)-(56+5)=20-1=19
1/ - 1/ - 4/ -
* e T 232+8=(____+__ )-(___+__)
Tle=__ Meo=___ 3loo=_____ _ _

Copyright ©,007 AWS Publications Ltd _18 -
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Number Knowledge Progress Assessment 2

Practical / oral assessment: Ask each question as outlined below. Record the results by circling yes or

. . L Result
Practical / Oral Questions (Supply your child with some paper) (Cﬁilue)
Skip counting in 4's, 6's, 7's, 8's and 9's, ask your child to recite a forward and backward
1 : . yes / no
sequence of at least the first 10 multiples for each number.
> Skip counting in 4's, 6's, 7's, 8's and 9's, ask your child to write a forward and backward es / no
sequence of at least the first 10 multiples for each number. y
3 Write up to 10 2, 3, 4 or 5 digit numbers and ask your child to round each number to the nearest 10, s/ no
100 or 1000. y
v v v
2+24=26 24-2=22 5+35 =4 43-8=35 '
30-9=21 8+17=25 g7-6=31 34+4=28 |_] ’
15+8=23 25-7=18 7+6=23 2324 =19 |
23-6=17 2+37 =39 3-9=239 9 + 39 % 484
4+25=29 22-3-19 3+23=26 1 29-6=123
32-6=26 I6+6=22 44 -8 =36 i9-13:22
Addition and subtraction 14+7=21 3 = 35 6+ 18 - T 38.-9=29
numeracy facts. 1842 | 6=25| - 28 3=05 23+7=30
2=16 9+6= 3 +7= e
4 ! L i K. _: |y ¢/ no
Tick each correct answer. v Vi 21-7=14 Nt 44-6=3 L
St 8 =40 13+4:17|_ 25-6=19 13 +R8 =21
|7 +31=38 29-8¢ 21 9+14=23 36 5=31
o2 - = - = - = | -+ = ]
2527_,252\._23221 -2921_
19+7:26}» } 1 -0-12 31+3:1"— 41-8=33
30-6=24 4+18 =22 25'4:-3'_ 7+17 =24
15+6=21| | 32-8=24 L 1=g? 31-6=25
24- 7817 44 +1 =45 20-7=19 19+9=28
| T v K v v
54+9=6 W 8=10 81+9=9 60 +6=10
7x2=14 X6 =30 4x8=32 3x8=24
4x, 6X, 7X, 840& 9 — — — —
multiplieation aha division 18+633 28+4=7 | | 72+8=9 | | 56+7=8 | |
facts. 60 =36 U 7x9=63 7x6=42 4x5=20
3B5+7 =5 48+6=8 16+4=4 64+8=8
Ask tiete 1acts one of several ] ] ] ]
ways, s ... x3=12 | 2x9=18 | 9x5=45 | 4x9=36 L
36+4=9 80+8=10 49+7=7 63+9=7
5 | "What does 4 multiplied' by 9 10x 6 =60 4x9=36 5x8=40 7x7=49 yes/ no
16 +8=2 21+7=3 54+6=9 12+4=3
. 7x8 =56 3x6=18 4x7=28 8x9=72
“What does 36 divided by 4 — | — |
equal?" 24+4=6 72+9=8 70+7=10 40+4=10
8x8 =64 7x5=35 8x6=48 4x4=16
"What number multiplied by 4 30-6=5 ] 32:4=8 ] 24+-8=3 ] 14+7=2 ]
gives you an answer of 36?" — — — —
9x3=27 2x8=16 7x3=21 9x6 =54
63+7=9 42+6=7 20+4=6 36+6=6
10x4 =40 4x6=24 10x8=80 7x10=70

ublications Lt




A
2 1 Term: Week: AWS ’
(1  Multiplying by 10, 100 or 1000. (5  Adding large numbers. 315
562 x 10 = 1.2 x 1000 = 9309 + 63 + 808 = 36825
457
3.4 x 1000 = 0.79 x 100 = 2631+ 38274+ 693 = . 1780
5205 + 678 + 14267 = -
(€)
Round these numbers to jrhe nearest 10 or 100 ©  Subtracting large numbers.
and then work out an estimated answer.
3578 - = 2849 12385
231+89+412 = + + = - 4872 = 27967 -
6539 - 795 = - - 29167 - . =256691 . 6789
(®  Find the square root of these numbers. (™  Multiplying whole numbers. 1673
V144 - V81 = 4108 2945 ) X 39
V225 - V400 = 4 *7 _e X6
(4)  Convert these percentage to decimals. ®  Dividing large nuimbers with remainder:
70% = 39% = 0,9%= )\,_-:, ¥ Noend1
420% = 8%=__ 4 66 %= y
)7 19 9)7068
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
\ Term: ’ 7' ;eek: AWS ’
AW a - e o | A=A
@) Order of aperaticiis. D) V\ /2 ) Adding ! mbers. 2571
iof @Ek\ W uﬂ\@ ing large number
15 + 0 x O 10008 - 734 + 68 + 2412 = 83
31426
, 047 + +35 = 3412
72+-8+7°=__(  5(31-3x8)= + 625
| 71+942 + = 1670
(@  Find thesquure or powers of these nutiber: (6)  Subtracting large numbers.
52 = 122 3084 - 447 = 54806
A . 45780 - 7372 = - 7385
156273 - 5348 =
(3  Convert these percentcies to fractions. ™ Multiplying large numbers using place value.
Example: 231x 3 = (200 x 3) + (30 x 3) + (1 x 3) = 600 + 90 + 3 = 693
331%= 80% = 75% =
453 x 7 = ( Xx__)+(_x_)+(_x_)
4% = 150% = 43% =
= + + =
@  Round these numbers to 1 decimal place. ®  Dividing large numbers using multiples of 10.
Example: 145 =5 = (100 + 5) + (45 < 5) = 20 + 9 = 29
394 - 9.06 = 927 :9=( . )+ ( . )
2145 = 6.128 =

Copyright ©,007 AWS Publications Ltd
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A
23 Term: Week: AWS ’
(1  Dividing by 10, 100 or 1000. (5  Adding decimals. 4.37
245:10=___ 576+100= 72.6 + 4853 + 42 = 129.80
0.22
89.34:100=______ 1047+1000=______ 47+223+34.98 = . 85.08
6941+8.6 +1.19 =
(@  Find each fraction of these decimals. ©®  Subtracting decimals.
/3 0f 144 = 2/c of 65 = 7238 - = 7153 439.58
-649:=3263 -
3/70f63= *9of072= 510.94 - _ 3127 97.99
(3  Round these numbers to 1 significant figure. @ Multiplying decimals CA79
= x 0.59
2350 69000 = 2.¢H 61.5 N
X U.4 x 0.07
0.021 = 0.0048 =
(4)  Convert these decimals to percentages. @) Dividing largenuribers using 'tidy’ numbers.
Examplé 195 £ 5= (200 +5)-(5+5)=20-1=19
0.23= 066'=______ n08- = ,
660 =7=(____+___ )-(an s )
0.45 = 3.50 = _ 07e____
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
o Q@ ¢ r
EI Term: ‘ “" eek: Aws
(M) Conver? these mixed numbers to 5  Adding dacimals. 75.81
imprioper fractions. Example: 4345514/, :
o] (& Xample. %9. '004 + 583 + 52 = 3.35
3/, = 2 462.07
2°/4 TR & 6475 + +29 = 13045 60 os
pdi + .
41/ = 37/ = W 59+ 4.4+ 8113 ——————
|
@ Add these posiivaand negative numbers 6)  Subtracting decimals.
— e+ = -
20 10 0 10 20 329.2-164 = 83.95
-18 + 13 B 193 858.87 - 57.24 = - 7.82
20+715= ¥ T8479= 243.62-989 =
. (M Multiplying large numbers using ‘tidy' humbers.
(3  Add or subtract these fractions Example: 296 x 3 = (300 x 3) - (4 x 3) = 900 - 12 = 888
1 1/, _ 2 1, _
fexlaz o s as 475 x5 = ( X ) - ( X )
Ve-Ys=_ H5-3/p= = - =
(8  Dividing decimals with remainders.

@  Find the percentage of these numbers.

50% of 250 =

20% of 140 =

663% of 120 = 75% of 240 =

Copyright ©,007 AWS Publications Ltd _21-
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A
25 Term: Week: AWS ’
(1)  Round these numbers to 2 decimal places. (6)  Adding large numbers. 252
4637 - 3715 - 3713+ 712+ 43 = 63
10936
521+76 +424 =
20.109 = 9.1237 = + B12
92 + 194 + 4474 =
@  Write two smaller equivalent fractions ®  Subtracting large numbers.
for each fraction given. 2836 - - 1526 13359
2 ) 18 ) - 2068 = 794 -
48 54 21753 - . =17096 6531
@  Multiplying whole numbers. 290
(3  Find the percentage of these decimals. iy 32
X
9% 3
10% of 1.50 = 333% of 2.10 =
x 5 x 6
40% of 21.80 = 90% of 3.60 = - _
@  Convert these fractions to percentages ®  Dividing large nunbers.
Ys=___ 3s=____ Cho=0 -jb__'b ) 5/_1/—_5_
3/100 = a0z L Tle= 5
3)618 4)2864
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
8 Term: ’ 7' ;eek: AWS ’
O o a L o |
@ Solve these ¢quations with mixed %a ®  Adding large humbers. 1765
nuiiber-answers,
® 464 + 18 + 2738 = 81
1+ 19 = = ’ 35223
' 19=71 d= Uo3 + +74 = 3412
+ 462
8k - 13 = 65 | 71+942 + = 1670
(2  Add or @ubtiraci tzse fractions 6  Subtracting large numbers.
5/ 58 Ws 3an s = 1289 - 35 = 5487
13247 - 695 = - 642
/- V5= VEENGE
23785 - 6321 =
@  Add +,-, x or + to make each (M Multiplying large numbers using place value.
statement true. Remember ... S e A A S
5___6__ 13=43 31__2_ 9=13 384 x4 =( Xx_ )+ x_)+(_x_)
9_ 7__ _4=37 56 ___8___9:=16 = + + =
®

@) Convert these improper fractions to
mixed numbers.

23/6:

68/8 -

Copyright ©,007 AWS Publications Ltd

37/8 -

75/9 -
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Dividing large numbers using multiples of 10.
Example: 145 + 5 = (100 < 5) + (45 = 5) = 20 + 9 = 29

376 +4=(

)+ ( + )

= + =
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A
27 Term: Week: AWS ’
(M What is the place value of the BOLD digit and ®)  Adding decimals. 291.8
what does it mean. 2.4
90.03+43.4+86= :
863+ : 2104=____= 574+4+389 = 5341.0
+ 38.8
194 - - 345 - - 91+1.96 +54.3 = —
@  Round these numbers to 2 significant figures. | ©  Subtracting decimals.
236900 = 3541 = 471.1- =719 193.35
0.0324 0.0709 -46.38 =509.63 -
.03 = 07 = —_——
64217 - o . =18257 . 8879
(@)  Complete these ratios. (™ Multiplying decimals. 5.14
Example: The ratio 3:4 is the same as 6:8.
385 7.9 Qe X7.3
4:5 = 140 9. = 27:24 B {4 x 6
42 =57 64:24 =-8:_ D G
@ Write these standard forms as numbers. ‘ @) Dividing large nuribers using 'tidy’ numbers.
Example: 520000 = 5.2 x 10°  0.00014 = 1.4 x 10* i Examplé 195 [ 5= (200 +5) - (5+5)= 20 - 1= 19
23x10%= 182 x 10 224 -8=1 - Y- (o )
6.4x10° = 438x10°= - -

Copyright ©,007 AWS Publications Ltd
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(M Solve these equaticis with mixed
number answers.

7d+ 19=102 d=___

8k-23=78

(@  Werite these nunbers in standard form.
Example: 520000 5.2 x 107 0.00014 = 1.4 x 10™*

610000 - 0000024 =

00.079¢ = 2180000 =

® A caris travelling at 90 kilometres per hour.
How far will the car travel in ....

3 hours

5 hours
1.5 hours ?

@) Convert these decimals to fractions.

05-= 048 = 0.05=

0.75 = 0.66" =

Copyright ©,007 AWS Publications Ltd
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Term: ‘ “" cek: Aws
Adding decimals. 73.81
296 +58.3 + 59 = 0.35
2.
AQ77D + +24 = 13054 462.08
+ 5.97
59 +44+ =8131 ——————————
Subtracting decimals.
326.2-194 - 58.84
587.27 - 58.84 = -7.28
289.62 - 659 =

Multiplying large numbers using ‘tidy’ numbers.
Example: 296 x 3= (300 x 3) - (4 x 3) = 900 - 12 = 888

386 x5 = ( X ) - (

Dividing decimals.

34.08

I

3)1.98 4
FOXn

6)29 .4 7)2.002
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Term: Week: AWS ’

(1  Order of operations. @MS 5)  Adding large numbers. 938
12
45+84:7 = 180-7x15+= 822 + 4765 + 34 = 52;
, 34+ 482 +3279 =
3x9+4°= 4(4+7x3)= + 402
6149 + 81 +916 =
@ Complete these ratios. 6  Subtracting large numbers.
Example: The ratio 3:4 is the same as 6:8.
7283 - = 7135 3959
27:18 = 2 7: = 28:36
- 694 = 3236 -
'8 = 3:24 40:75 = 8: 11127 - - 8090 3798
3  Werite these standard forms as numbers. ™ Multiplying whole iumbers. 274
Example: 520000 = 5.2 x 10°  0.00014 = 1.4 x 10* ‘ x 76
231 752
5_6x103: 6.3*105: X 8 X 9
8.1x10*= 9.05 x 1073 =
(4  Convert these fractions to decimals. ®  Dividing large numbers, some with remeinder<:
1/, = /s = 7 N Naz 4 85,902
2 - 7 - 1
l3=_ ho=__ 4 ar —
7)5 5 3 9)8 439
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
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— L3 N H | AL
(M Write these tumcers in standard form. )  Adding large numbers. 949
Exaflnle: 520000 5.2 x10°  0.00014.2.14 4104
609 + 4613 + 70 = 3273
45000000 = 20063 = 60
76+ + 3171 = 3901 541
0.000592 = . _ 674000= 0 | 2389 +58 + = 3049 -
@  Find the perceniase of these decimals. (6)  Subtracting large numbers.
50k0f7.2 33%% of 12.0 = 1582 - 727 = 16325
250 of 6.4 = 90% 01160 = 20073-902= 945
74075 - 8516 =

3 i
Meat costs $16.60 per {glogram. — (M Multiplying large numbers using place value.

How much would it cost to buy ... w Example: 231 x 3 = (200 x 3) + (30 x 3) + (1 x 3) = 600 + 90 + 3 = 693
2 kgs of meat _
0.5 kgs of meat 583 x7=(_ x_ )+(_x_)+(_x_)
1.25 kgs of meat ? = + + =

@  Add +,-, x or + to make each ®  Dividing large numbers using multiples of 10.

statement true. Remember ... @ Example: 145 = 5= (100 = 5) + (45 - 8) = 20 + 9 = 29

6__7__9=51 80__5__ 4:=60 954 9= ( - )+ ( . )
17_ 32_ 4=25 22 8 3=46 = + =

Copyright ©,007 AWS Publications Ltd _24 - This page MUST NOT be photocopied




Number Knowledge Progress Assessment 3

Practical / oral assessment: Ask each question as outlined below. Record the results by circling yes or

. . L Result
Practical / Oral Questions (Supply your child with some paper) (Cﬁilue)
Skip counting in 4's, 6's, 7's, 8's and 9's, ask your child to recite a forward and backward
1 : . yes / no
sequence of at least the first 10 multiples for each number.
> Skip counting in 4's, 6's, 7's, 8's and 9's, ask your child to write a forward and backward es / no
sequence of at least the first 10 multiples for each number. y
3 Write up to 10 3, 4, 5 or 6 digit decimal numbers with up to 3 digits after the decimal point. Ask your s/ no
child to round each decimal to the nearest 1 d.p. and 2 d.p. y
v v v
36-8=28 13+4 =17 25-6=1 13+8=21 '
7+31=38 29-8=21 g +14-23 36-5=21 |_] ’
32-5=27 28+2=30 3-0=21 1249=21 |
19+7=26 21-9-12 11 +3=34 41-¢ 33!
30-6=24 4+18 - 22 25-2=23 7+ 17 =24
15+6=21 12-8=24 7+15=22 i3j 6=25
Addition and subtraction 04 -7=17 12 = 45 26-7=9 T 39 +9=58
numeracy facts. —
4 2+"4:’5L 24-2=22 5+ 35=40 43-8=35 , |yb_,no
Tick each correct answer. o N\’ 8+17=25 K -1 34+4=3 Ll
i5:8=23 25-7=18 17+6=23 23 .4 =19
22-6=17 2+37439 48 -9 =39 9+19=28
r+25=29 _,2:~3:1 3+23=26 |_9 6=23 |
32-6:26}» s+ 22 44-8=3 L [ G+13=22
14 +3 =21 37r-2=35 6+ d:_‘4'_ 38-9=29
18-2=15 | | 19+6=25 8-3=25 23+7=30
8t 16524 21-7=14 618 =26 44 -6=38
T v K v v
5x8=40 %8, =S 7x7=49 10 x6 =60
54+6=9 1+7=3 12+4=3 16 +8=2
4x, 6X, 7X, 840& 9 (= — —
multiplieation aha division 4x7=@8 3x6=18 8x9=72 | | 7x8=56 |
facts. 7047 =10 U 81+9=9 40+4=10 24+4=6
8x6 =18 7x5=35 4x4=16 8x8 =64
Ask tiete 1acts one of several ] ] ]
ways, s ... 1+8=3 | | 32+4=8 14+7=2 | | 30+6=5 | |
7x3=21 2x8=16 9x6 =54 9x3=27
5 "What does 4 multiplied by 9 20+4=6 42+6=7 36+6=6 63+7=9 yes/ no
o _— _— _—
equal’ 10x 8 =80 4x6=24 7x10=70 10 x4 = 40
. 72+9=8 40+8=5 60 +6=10 54+9=6
"What does 36 divided by 4 — — |
equal?" 4x8=32 5x6=30 3x8=24 7x2=14
80+8=10 28+4=7 56 +7=8 18+6=3
"What number multiplied by 4 | 7 x 6 =42 7x9=63 4x5=20 6x6=36
gives you an answer of 36?" — — —
16+4=4 48+6=8 64+8=8 35+7=5
9x5=45 2x9=18 4x9=36 4x3=12
49+7=7 72+8=9 63+9=7 36+4=9
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Term: Week: AWS ’
Add and subtract these integers. (5)  Adding decimals. 0.25
—21+17 = 18 - 14 = 80.09 + 6.8 + 293.3 = 317.15
0.57
9.31+38294 +62.7 =
32-"15+= T41-729 = + 68.80
5.785 +4.20 + 16.67 = -
Estimate an answer by rounding the $$$ first. |©  Subtracting decimals.
$8.90x5 = $7.25%9= 4688 - = 395.9 627.5
$48.60+7 56380+ 8 -386.2 = 178.67 -
o T 39267- . =357691 9679
Find the square root of these numbers. ™ Multiplyifig decimals. 38.5
a3 971 x 4.9
V49 = V144 = | —
x5 X &
\225 = \400 = > 4
)

Convert these decimals to fractions.
0.25:=

0.9 = 03 =

Copyright ©,007 AWS Publications Ltd
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Dividing large numbers using 'tidy' numbars.
Exaniple: 195 +5=1200+5)-(6+5)=20-1=45

" N
Order ofaperaticiss. R Eb/,u AS 5)
25+ 108+ 9 = 81 7x4d =
5x6+42:= ___3(10+5x6)=____ °

Find the square or howers of these nuriber:

Convert these percentcies to fractions.

75% = 40% = 37% =

665% = 125% =

Round these numbers to 1 decimal place.

4.96 = 7.21=

12.739 = 32.847 =

Copyright ©,007 AWS Publications Ltd
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g o | e
Adding decimals. 8.81
3975 +2.64+62.1= 0.57
41.43
89.34 + +2.15=675.09
+ 3.90
1445 + 68.69 + = 23347
Subtracting decimals.
4028 -484 = 595.06
24770 - 66.32 = - 48.85

2637.73 - 465.8 =

Multiplying large numbers using ‘tidy' numbers.
Example: 296 x 3= (300 x 3) - (4 x 3) = 900 - 12 = 888

596 x 6 = ( X ) - (

Dividing decimals.

6i4.44 7)3.136
41.6

8

El

9)28.62
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33 Term: Week: AWS ’
(M Convert these mixed numbers to 5  Adding large numbers. 570
improper fractions.
Prop 347 + 1129 + 53 = 67
3/, = 8/, = 2985
2°/s 6%/ 30 + 998 + 2745 = i
+
7%/g = 9%/3= 1426 + 70 + 298 =
3] Find each fraction of these decimals. ©  Subtracting large numbers.
2/30f12 = %/g of 41.6 = 2896 - = 2032 3857
3/ 3/ - 538 =4149 -
of 24 = of 238 =
¢ 7 6353-__ . =3928 2461
(®  Round these numbers to 1 significant figure. ™ Multiplying while nuiibers. 583
y x 67
63500 = 946 = 9 Q2
X 4 X 9
0.087 = 0.00639 = -~
(4  Convert these decimals to percentages. ®  Dividing largemuribers.
0.67 = 0.3 = @35 = ™ T ;,j o1 ‘__ -
0.75 = 0.05 = 1.2
) . S —
¢,608 7 i4 613
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
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(1)  Round these numbei's to 2 decimal places: (6)  Adding lirge numbers. 357
032/ - (0629 - 419.+1354 + 82 = 3168
' - - 28
) Qg+ +1367 = 1672
30.109 = 140275 -= + bl4
2345 + 82 + =2613 —————
|
(  Find the perceitage of these decimals )  Subtracting large numbers.
109 06,8 = 331% 0f 15.6 - 4037 - 387 = 42000
- - - 864
25% of 4.96 = 5% bf 6t = 9903 - 917 =
10283 - 827 =
(3  Add or subtract these fructions (™ Multiplying large numbers using place value.
Example: 231x 3 = (200 x 3) + (30 x 3) + (1 x 3) = 600 + 90 + 3 = 693
1/2"’3/42 2/3"'5/6:
756 x 7 = ( Xx__)+(_x_)+(_x_)
2/3'1/6: 7/3-1/42
= + + =
®  Dividing large humbers using multiples of 10.
(C)) Convert these fractions to decimals. Example: 145 = 5 = (100 + 5) + (45 = 5) = 20 + 9 = 29
?/s = 4= /s = 16648 =+ )+(___+__)
1/20:7 9/10:7 3/2:7 = + =

Copyright ©,007 AWS Publications Ltd
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A
35 Term: Week: AWS ’
(@) Solve these equations with mixed (6)  Adding decimals. 9.5
number answers.
30.84 +556.73+9.2 = 4133.5
= = 715
Ad+7)=53 d 293.29 + 6.1+ 7458 =
+ 621.1
5k-6)=19 k= 41+39.6 +628.7 = -
(6)  Subtracting decimals.
(®  Add and subtract these integers. ubiracting decima’s
B B 27134 - = 187.84 496.13
45 + 62 = 34-18 =
- 2153 =457.20 -
25-717=____ "43-727= 17884 - - 12587 . 443.49
(3  Find the percentage of these decimals. @ Multiplying decimdls. 41.7
X 903 x 6.9
50% of 1.7 = 5% of 6.4 = Y X : -
x 5 X 8
665% of 5.4 = 80% of 3.5 = 9
(4)  Convert these percentages to decimals. ) Dividing larga numbers using 'tidy’ numbars.
Exaniplz; 195 -5=(200+5)-(5+5)=20-1=415
65% = 8% = 37 % N
e (s ) s )
80% = 331%=__ < 150%= ) )
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
N Term: ’ 7' ;eek' ’
: Week: AWS
@ A caris fravelling at 90 kilometres par fow )  Adding decimals. 3419
How fapwili the car travel i 329
2446 +317.2+3.65= :
M 1445 275-15767 1208
45+ +275= .
7 hours + 27.7
2.25 hours _° 6.89+493 + = 302.54
@  Write o smaller cquivalent fractions ®  Subtracting decimals.
for@ach fraction given. 15945 - 6.27 = 159.83
24 ) 22 _ 75.782 - 2.36 = - 86.96
48 7 9420 - 474.23 =
@  Add + -, x or + to make each (M Multiplying large numbers using 'tidy' numbers.
statement true. Remember S Example: 296 x 3= (300 x3) - (4 x 3) = 900 - 12 = 888
6___3__ _11=29 45 7 _ 4=17 585 x8 =( X )-( X )
36__6__4=12 21__56__ _8:=-14 = - =
(8  Dividing decimals.

@) Convert these improper fractions to
mixed numbers

45/6 - 50/7 -

39/9 - 63/8 -

Copyright ©,007 AWS Publications Ltd
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Term: Week: AWS ’

(@) Solve these equations with mixed (5)  Adding large numbers. 5852
number answers. 770
72 1732 + 42 + 953 =
= = 3 6
8d+4=71 d 397 +5890+49=_
+ bB19
7(k-9)=29 k= 31+389 +6702 =
(2  Add or subtract these fractions 6  Subtracting large numbers.
3043/, = 2/, 44/, = 6892-_ = 2060 6347
- 897 =9144 -
7, 1) _ 3/ 2y -
lo-"Yaz_____ la-%ls= 7347- o Q- 2389 1422
(3  Complete these ratios. @ Multiplyiggwhgle nifgbers. 508
809 470, x 37
5:8 = 132 14:
X 4 X 6
:3 = 18:6 9:5 = 54: o
4  Write these standard forms as numbers. ﬁ 3 ®  Dividing largepuribers with remainders.
12 % 10% = 5.7 x107=0 Y407 60387
34x1073 = 65+410%2=" g
5,784 8 i9 217
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
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(1) Order.of aperdtions. @} W’\XQAQ é (5)  Adding lirge numbers. 953
7+24-649= a€5 08 W - 2143484 + 245 = 4852
73
18/6+__ +93=2127
R -Bx6+7=_ [ 3@4+i7:9)=_ < o ’ . 611
254+83+__ =3162
|
(  Round these numiers to 2 significant figure: ©®  Subtracting large numbers.
450000, 9500= 5720 -773 = 27000
- = - 795
0.0067 = 0.1084 7309 -719 —
13493 - 839 =
®  Acaris travelling at 80 kilometres per hour. (M Multiplying large numbers using place value.
How far will the car travel in .... Example: 231x 3 = (200 x 3) + (30 x 3) + (1 x 3) = 600 + 90 + 3 = 693
5 hours
279 x 9= x_ )+ x__ )+(_x___
45 hours ( )+ )+ )
3.75 hours = * * =
. (®  Dividing large humbers using multiples of 10.
(4)  Convert these fractions to percentages. Example: 9145 s ? (100 = 5) + (45 = 5)52 2045 :P29
3 - 2 - 2 -
/a= /3= /5= 927 +9:=( + )+ ( + )
Y20 = /g = Moo=

= + =
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(1)  Add or subtract these fractions (5  Adding decimals. 53.31
34+4%s=___ 542z 5.4+ 67.38 + 305.92 = 2.10
533.14
4785 +239.61+29 =
11/4-7/32 31/2-12/32 + 15,96
1676 +28+493= -
(@  Write these numbers in standard form. g (6)  Subtracting decimals.
0.0051 145000000 Qa7 02 —
T i 23983 - 4 -62678 . 34449
(3  Write these standard forms as numbers. (M Multiplying d-cimals. 7.45
23x10%= 9.3 x10%= 70.6 63.4 x9.2
x 5 x 8
14 x10™ = 52x107% = ay ————
@  Add +, -, x or + to make each — ). )  Dividing large numbers using 'tidy' numbers,
statement true. Remember ... @ VM S) Exaripe; 199:+ 5 =800 =5) - (5+5) = 20 - 1=
32__8__16=20 7 .8 _9:=65 368 - 8®( - e - )
16__4__5:=36 7. 6__4_9:=6 - 2% -
Copyright ©,007 AWS Publications Ltd This page CANNOT be photocopied
N Term: ’ 7' ;eek: Aws
AW a - e o | A=A
(1) Writé these tumuers in standard foim. 5-— (6)  Adding decimals. 47.8
30000~ {00459+ 426 +336.2 + 175 = °137.7
1.5
4154 + +725=72176
0.000148 = ___ 70000000 = + 352.9
| 383+449 + 220345 —————
@  Complete thesc patios. \ -gt @) © Subtracting decimals.
5004 - 3 03 - 7:5 537.41-8.25 = 3774.1
_ = - 585.7
45 -4:0 4030 = 4 92.316 - 6.74
675.00 - 213.64 =
®  Meat costs $18.60 per Lilogram. (™ Multiplying large humbers using ‘tidy' numbers.
How much would it cost to buy .... w Example: 296 x 3 = (300 x 3) - (4 x 3) = 900 - 12 = 888
2 kgs of meat 586 x 6 = ( « )-( « )
0.5 kgs of meat
1.25 kgs of meat ? = - =
(8  Dividing decimals.
(4  Convert these fractions to decimals.
2/5 = 3/ = %/100 = 4)3 .84 7)59.22
1 - 7 - 5 -
/50 = /1000 = — 5)89.5 9]5.148

Copyright ©,007 AWS Publications Ltd

-30 -

This page MUST NOT be photocopied




Number Knowledge Progress Assessment 4

Practical / oral assessment: Ask each question as outlined below. Record the results by circling yes or

. . L Result
Practical / Oral Questions (Supply your child with some paper) (Cﬁilue)
Skip counting in 4's, 6's, 7's, 8's and 9's, ask your child to recite a forward and backward
1 : . yes / no
sequence of at least the first 10 multiples for each number.
> Skip counting in 4's, 6's, 7's, 8's and 9's, ask your child to write a forward and backward es / no
sequence of at least the first 10 multiples for each number. y
3 Write up to 10 3, 4, 5 or 6 digit decimal numbers with up to 3 digits after the decimal point. Ask your s/ no
child to round each decimal to the nearest 1 d.p. and 2 d.p. y
v v v
5+35=40 43-8=35 2+24 =2 24-2=22 '
37-6=31 34+4=38 -9-21 8+17=25 '_‘ |
17 +6 =23 23-4=19 5+0=23 2547 =18 |
48-9=39 9+39 =48 23-6=17 2 +37 =39
3+23=26 29-6+ 23 4+25=29 - 22-3=19
44 - 8 =36 9+13=22 32-6=26 i16.6:22
Addition and subtraction 6+18 =24 258 = 29 14 +7-9 T 379235
numeracy facts. —
4 2843=75 L 23+7=30 18 2=16 19 +6 =25 , |yb_,no
Tick each correct answer. 81516520 44-6=38 + 16024 21-7=1 L'
25 - 6=19 13+8=21 36-8=28 13 4=
L0+ 14=23 36-5%31 7+31=38 29 2=21
-2= 2 ~9=_ -5= | + 2= ]
_3221_,149 32-5=27 _6230_
31+3:34% [ "33 19+7=06l [Zi-9=12
25-2=22 7+17 =24 30'32-4'_ 4+18=22
7+15=22 | | 31-6=25 5+0=01 32-8=24
26- 75197 19+9=28 20.7=17 44 +1=45
| T v K v v
10 x6 =60 %8, =3 5x8=40 7x7=49
16 +8=2 1+7=3 54+6=9 12+4=3
4x, 6X, 7X, 840& 9 N o — —
multiplieation aha division 7x8=86 3x6=18 4x7=28 | | 8x9=72 | |
facts. 240 4=¢ U 81+9=9 70+7=10 40+4=10
8x8= 64 7x5=35 8x6=48 4x4=16
Ask tiete 1acts one of several ] ] ]
ways, s ... 0+6=5 | 32+4=8 24+8=3 | 14+7=2 L
9x3=27 2x8=16 7x3=21 9x6 =54
5 "What does 4 multiplied by 9 63+7=9 42+6=7 20+4=6 36+6=6 yes/ no
o _— _— _—
equal’ 10 x4 = 40 4x6=24 10x 8 =80 7x10=70
. 72+9=8 40+8=5 54+9=6 60 +6 =10
"What does 36 divided by 4 — — |
equal?" 7x2=14 5x6=30 4x8=32 3x8=24
18+6=3 28+4=7 72+8=9 56+7=8
"What number multiplied by 4 | 6 x 6 = 36 7x9=63 7x6=42 4x5=20
gives you an answer of 36?" — — —
35+7=5 48+6=8 16+4=4 64+8=8
4x3=12 2x9=18 9x5=45 4x9=36
36+4=9 80+8=10 49+7=7 63+9=7
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Revision

Term: Week:

The place a digit has in a humber will affect it's value.

Example:  In 57.92, the 9 has a place value %
of !/10 and means 0.9.

What is the place value of the BOLD digit in each
number and what does it mean?

Place value means
@ 307 .42 7
@ 58107.86
® 342.891
@ 30.514
®) 9.264

When rounding a number to the nearest 100, look at
the 10's place value number.

275 rounds up to 300 (5,6,7,8,94)
but 825 rounds down to 800 (0,1, 2, 3,4 W)

When rounding a number to the nearest 1000 lock ai
the 100's place value number.

3805 rounds up 1o 4000 (5,€, 7. 8,5 )
but 1353 rounds down o 1000 (0 ' 2, 5,4 W)

Example:

Example:

Round these numbers to-the nearasi ..

1 100 1000
(6) 1837
@ 207%
(8) .25
©) 14308
(20) 53754
(11)  Wprite these numbers in order @ lioﬁ
from smailest to largest. o 64
163
— O W ¥ 16.5
_, v 1680
0.0162
(12)  Wprite these fractions in order
from smallest to largest.
1/2 1/6
’ ’ ’ s /3
] 5 1/10 1/4
(23)  Wprite these fractions in order
from smallest to largest.
2/3 3/5
' ' ' e  3/4
, , s /10

Prime numbers, multiples and factors are
all special types of humbers.

Use the words in the box to fill in the missing words in
these sentences about special numbers.

\ factor, multiples, prime \

a4 A number can only be
divided by two numbers, itself and 1.

@s) The of a number are
found by multiplying the number by 1, 2, 3, 4, 5,
etc. and recorditg the answers.

@ae A A W of a givesi riumber is a

whole number that divides exdctly iito the given

nufioer. 1hare is no remainder.

s,

¢

Warking wiin prime numbers.

@7) ust the first 10.0ritic numbers.
(18) List the prine rumbers between 60-an 100.
19) Ciicle ihe prime numbers in-thi list.
33, 55, 37, 39, 45, 47/, 49, 51, B3, 57, 59
Worling with multiples.

| Sxdinple: The multiples of 5 are’.. 5, 10, 15, 20, 25, 30 efc.

(20) List the firsi 10 muitiples of 9.

(21)  List the multiples of 8 between 34 and 60.

@5 List the multiples of 7 between 50 and 120.

Working with factors.

~e
Example: 2 and 3 are factors of 6 as 2 x 3 = 6. '

- e

(23) List the factors of 18.
(24) List the factors of 40.
(25) List the factors of 56.

e
L]

{ L=
*- » The aim of this activity sheet is to revise reading, writing &
. ordering numbers or decimals and place value & rounding.
ad e
Suggested extension activity:
Make up similar questions as on this worksheet to see if your child
understands the various mathematical activities revised.
Example: Write 5.0392 in words. What is the place value of the 5 in
19.54? Round 345.93 to the nearest tenth. Order these nhumbers from
smallest to largest, 15.2, 1.53, 0.159, 157, 1540.

Sign when
completed:

Copyright ©,007 AWS Publications Ltd
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Addition & subtraction strategies Term: Week: AWS ’
There is more than one way to work out an answer. Adding using columns “ 23 ,
Here are some examples. Add 34 + 1423 +9 + 135+ 3482 = ? 1423
Groupings of 10, 100 or 1000 Rewrite the numbers in a column, lining up 9
Adding 25 + 7 + 80 is the same as 100 + 12 = 112 numerals with the same place value. 135

Round to make '10' or a lmuh,iple of 10’ Add each column of numbers, STGI"ﬁﬂg with + 3482
the right hand column. 5083

Add 65+ 9 (add 5 to 65, subtract 5 from 9)
Answer: 65+9=70+4=74

Adding or subtracting 100's, 10's and 1's

Answer: 1100 + 80 + 8 = 1188

Splitting numbers to make '10'
Work out 485 -8 - @ (485 =480+ 5)
480 - 8 =472, Answer: 472 +5 =477

Equal additions to make 'tidy' numbers
Subtract 181 - 93 (add 7 to both numbers)
Answer: 181 - 93 = 188 - 100 = 88
Don't subtract ... add
108 - 79 = @ is the same as 79 + @ = 108

Add 732 + 456 (100's) 700 + 400 (10's) 30+ 50 (1's)2+6

=T
&P

f\ s v
" )
A

(21) 9+ 682 +87 + 3456
(22) 394 +5209+8 +76 +542 + 95

(22)

(21)

Rewrite these numbers in columns, then add.

Use 'tidy ' numbers to work this out. | ‘ ( 5 : - 5 =
(79+1 =80, 80+20=100, 100+8=108)= 1+20 .,ﬁ_— 29 $ub1'r'ac1'mg usir alunns & renaming
. ) A3 -3 ?
Work out the problems using any strategy you like, but Subtract SR Q) 5 14 13
be prepared to talk about which strategy you used. 6F 653
5 il - 1 AN
@ 299 - 74 = _ R _ - 389 1
@ & | 4 / T
2 = e v
@ 522 + 89 A W e ‘ . B3 isrenamedas 4 &13 . (13 9:=4).
3 603 -75 = .. 64 is renamed as 5 c. (14 -8=6).
— V. . ‘ .. finally ..5-3 2
@ 924 - 670 = A
— —— | Rewrite thesc numuei's in columns, then subtract.
5 126
© 288" " 9 (23) 4758 - 1985 (24) 6243 - 4679
®) 145 + 261+ 619 =
) 4396 - 2154 = > -
®) 85 + 187.= |
©) 54 + G& + 5o =
— (25) 8000 - 2785 (26) 12000 - 5241
(10) 102 989 =
(11) 260 + 1531 =
(12) 605 + 391+ 149 =
(13) 2704 - 829 =
™™ The aim of this activity sheet is to look at different
(24) 385 + 457 = " @ strategies that could be used to work out addition or
«% Fa Subtraction problems.
(%) 519 - 374 = Suggested extension activity:
Make up similar questions that cover the basic numeracy facts at the
(16) 1332 + 146 = back of this resource. These are key number knowledge facts.
The strategies used on this worksheet are only a suggestion. Your
an 853 - 95 = child may not need to use some or all of these strategies and may
have strategies of their own. Encourage them to talk about how they
(18) 500 - 245 = work out their answers. Remember that working out the answer with
confidence is more important than the strategy used.
(9) 132 + 826 =
Sign when
(20) 375 + 601 + 439 = completed:
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Multiplication & division strategies

Week: AWS

Term:

When working with large numbers, there is
more than one way to work out an answer.
Here are some using place value
Working out 259 x 8 is the same as ...
(200 x 8) + (50 x 8) + (9 x 8) = 1600 + 400 + 72 = 2072

Rounding to use 'tidy' numbers
Working out 298 x 5 is the same as ...
(300 x 5) - (2 x 5) = 1500 - 10 = 1490

Work out the problems using any strategy you like, but
be prepared to talk about which strategy you used.

@) h97 x 6 =

()] 790 x 7 =

()] 607 x 8 =

(€] 324 x9 =

() 741 x7 =

Here are some division strategies.

Using known multiples of 10
Working out 95 + 5 is the same as ...
(50+b5)+(45+5)=10+9=19

Rounding up or down to use 'tidy' fwiibers

Working out 195 = 5 is the samz as .
(200:5)-(5+5)=40-1 35

o
B

Work out the problefiis Lising any strategy jou i
be prepared to tali about which strategy vou iiseo

108 26 =
171 9=
1788 + 6 =
119+7 =
4024+ ¢ =

)

@

®

&)

(20)

N

Using wri Yer: .arking forms
To work out 5 x 8, rewrite as —

Firstly, 8 x5=40

s

x 8
\0

then, 90 x 8 = 720 plus 40 = 760

_—
\

(Note: small 4 represents 40)

95
x 8
760

—>

(11) (13)

267
X3

876

x5 (@s)

491
X 64

12) (14)

598
x4

926
x8
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Using written working forms, some with & without
remainders. To work out 85 + 6, rewrite as ...

Firstly, 8+6 =1 1

with a remainder of 2 6W

14 r1
6)8°5

then 25+ 6 = 4
with a remainder of 1

(16) (18)

7i168 7)943

@@ (29)

802 ( 2 )1375

Show yourmworking as you work out this problem.

. - working space
(20) «t a large high schoal; L™
computer roohis are going

to be set un

Eachroom will have
2 cothuters.

°f 1iic cost of one compiiter
i5°$1365, how much will it
cost to set updlie compliter
rooms?

The t0tal cost of airfares
for five adult fares came
t0 $1890. How much did
eatn passenger pay?

(21)

The total cost of seven
new bicycles was $4165.
How much did each bicycle
cost?

(23)  Nine new computers cost
$21150. If they are all
the same, what is the cost

of one computer?

™ The aim of this activity sheet is to look at different
" '@ strategies that could be used to work out multiplication
«% @ Problems.

Suggested extension activity:
Make up similar questions that cover the basic numeracy facts at the
back of this resource. These are key number knowledge facts.

The strategies used on this worksheet are only a suggestion. Your
child may not need to use some or all of these strategies and may
have strategies of their own. Encourage them to talk about how they
work out their answers. Remember that working out the answer with
confidence is more important than the strategy used.

Sign when
completed:

This page MUST NOT be photocopied




Working with decimals

Week:

/[ /]
Term: ’

AWS

Adding decimal numbers using columns i 6213
Add 023 +14+94+1353+3.485=? 14.
Rewrite the numbers in a column, lining up the .
decimal points. EREY
Add each column of numbers, starting with the TR
right hand column. 162.415

Rewrite these decimals in columns, then add.
@) 57+009+457 +68.2

1.3 +140.9 + 27 + 51.231 + 2003

@ @

@)

Subtracting decimals using columns & renaming | ‘
Subtract 46.3 - 2.58 = ?

(Line up the decimal points)

2 10 5 12 10 5 gie 10
46.30 46.30 46.70
- 258 > . 258 IT,> <458
2 .72 4 3\
.. 30 is renamed as 20 & 10 .. (10-¢C = 2]

..62isrenamedas 50 & 12 (1c -5= 7).
.. finally ..5-2=3and 4-0 4

.
Q_’g\z ‘

Rewrite these
decimals in columns,

@3

then subtract, - 2% N
@ 2179 - 1495 :
@ 5326 -1.049
( ©)
(5) 1456 -9.348 | W —o¢J
© 4217 -9.673 4 V¥

Using writte : working forms with. dec mals
To work out 14.5 x 2.8, use the “ciiz stratzgy as
if working with whole numbers.

Rewrite as ...
Wher¢ does the decimal point

145 go in the answer?

x 2.8 \ By counting the digits to the right of the decimal
1160 point in the question, the position of the decimal

2900 point in the answer can be found.

- | — Example: 2 digits to the right of the decimal
40.60 < | points, so 2 in from the right.

Rewrite these decimals @

in written form layout,

then multiply. ©
M 478x09
(8 2.345x0.07
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Using written working forms with decimals

To work out 2.84 = 0.4, move the decimal point in 0.4 until
you are dividing by a whole number.

Then move the decimal point the same number of places in

the number being divided.
O.4i2.84 4j28.4

Work out the answer using the same strategies as if
working with whole numbers.

_—

Example:

Rewrite these decimals
in written form layout,
then divide.

147-+0.6

T

©
C)

1o

(10) 4786 =007

Ad ‘ng zeros and rounding
With e division problems 11

Yy adding extra zeros, y¢u con keep dividing.
‘ Example: 18.7 = 772

ppears to be ne and.

02.6714 ..
Round this answer to
7 N
2 decima! place jl 8.7000 & et

Ancver: 2.6714 rounded to 2 ¢

267

Rewritt these decimals in
written rorm layout, add
3 zeros, then divide.

(11 13.7+0.8

(12)

(12) 2.345-+0.02

working space
(13 A school is charged $0.015
pait copy, for photocopying
A4 sized paper.
Work out the cost of

printing 26584 copies. I

Ty
.=

Nine C.D.'s cost
$143.55.

If they all cost the
same price, what is the
cost of one C.D?

(24)

——

1CD.costs=$

t-s.-.u.-m

The aim of this activity sheet is to use addition and
- * & subtraction strategies to workout problems involving
% £e decimals / money. Remember to line up decimal points.

Suggested extension activity:

Make up similar questions as on this worksheet, that involve adding
and subtracting decimals. Ask your child to work out an estimated
answer before they do the calculation.

Example: If | spend $5.25, $1.90, $3.25 and $9.90, how much have |
spent and what change do | get from $30.00?

Answer: Estimated answer ... 5+2+ 3+ 10=20

Sign when
completed:
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. A
o3l Powers & Order of operations Term: Week: AWS ’
When a number is multiplied by itself, such as .... an 24+56+7 =
1x1, 2x2, 3x3, 4x4etc. the answers that are 18) 62-6x4+13<
created are known as squares. Pt
These can be written as 12, 22, 32, 42, etc. (19) 74+36-9-6=
We say , 4° as ‘four squared, which means .. 4 x 4 = 16. 20 9x8-48+4-
Work out the squares of these numbers.
ork o e squares of these e @)  49:7+3x6<
@ 8= @ 7%=
Problems involving brackets.
@ 5°= @ 11%= Example: 4(3 +4)means 4 x (3+4)=4x7 =28
(5) How many concrete tiles are needed to tile a e e B i

square court yard if one
side is 13 tiles long?

The opposite of squaring a number is to find the

square root. The symbol for square root is . %

Example: Tf 3x3=9,thenV9 =3
(i.e. tTwo numbers the same that multiply to 9)

Work out the square root of these numbers.

® 81= M N36=
® 144 = © V40O~ _.
(10) A square court yard has 49 unic meiie square

tiles. How long is each side?

Other powers. %j
If 9x9=9%=811thci2x2x9=9°=729

Example: Find 5* Znswer: 5x5x5x 0 62

Work out inesc powears.

(11) 2¢
(12) 34
(13) 73

When workin_ ~ut “nsi - s with questions v 'vir o u |
mixture o aperai o s, the order in whici *hey c.re
done will aftect the answer. Thez lciters BOUDMAS or
BEDMAS v iii help you to rememter 112 order.

3 = brackets Exaliples.
(ol - of (E = exponents) x8+12 13+4x3
Wl = division 9812 F13+12
s =60 =25
("W = multiplication 4.7 10s27-9.7
A =addmon‘ A R
) - subtraction =2 -6
Use order of operation rules to work out )
the following problems. @
a4 9x7+22=
(5) 6x8-29-=
(16) 75+5-8=
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@9

Use order of operctiaii rules to work out i1z answers
for these ques'ions involving brackets.

(22) ..\ R, o) =
@  Bga-3x1)=
(24) 2(6bx8-12)=

Problems involving {'~ack ts and exponents
EXamp/e."%2+F,<:, eals3x3+H5x4=9+20= 20
5(4° <2« A)=(16-12)=5x4=2(

Use orcer of Gperation rules towark cut the answers
for these questions involving brackets and exponents.

@5 2(4x3+8)=
(@)  5(30-3x6)
@) 6(3609 49
Add #,-, x or = to make each
tatement true.  Remember ... @
(28, 6 6 9:=45
35 5 8=15
(30) 8 6 27 9:=51
(31)  Aimee bought 7 books worth $9.00 each and 6
pens worth $3.50 each. How much did she spend
altogether?
Y e The aim of this activity sheet is to understand square / ]

" '@ square roots and order of operations when calculating
a3 @ answers involving the four operations and exponents.

Suggested extension activity:

Make up similar number and word questions as on this worksheet that
require finding squares or square roots and questions using the order
of operation rules.

Example: If a square tiled area has sides of 15 tiles, how many tiles
are in this area?

If | buy five C.D.’s at $15.00 each and a book worth $12.50, how much
have | spent?

Sign when
completed:
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n Decimal place / Significant figures

Week: AWS ’

Term:

Numbers can be rounded to a certain number of
decimal places (d.p.) fo obtain an approximate answer.
When rounding a number to a certain number of decimal
places, count the required digits from the decimal point.
If the next digit is 5 or above, add 1 to the last digit.
the next digit is below 5, leave it as it is.

Example: Round these numbers to 1 d.p.
4.569 roundsup to 4.6 (5, 6,7, 8 94)
but 2.437 rounds down to 2.4 (1 2, 3,4 ¥)

If

%%.

Round each number to 1, 2 and 3 decimal places.
Tdp._2dp___3dp_

@ 2.3184

) 56.4716

(©) 0.9352

(4  485.3925

(®) 3.91739

®) 1.40219

™ 0.0259 \"4

®) 0.9999 X

©) 243 [

Numbers can be rounded to  cei .uin number of
significant figures (s.'.) “¢ abiain an approx.nc.c

answer.
When rounding a.nuniber to a certain numbei of significant
figures, count Ine required number of digi's from the first

non-zero digit. the next number is & ¢ above, add 1 to
the previous digit. If the nex! digit is below 5, leave it as it
is. Remember to add the @zros ficedad to keep place values
correct. ‘ ‘

Examples: Round 345¢ 10 2 = f. and 0.00048 to . s.; |
Answers: 35071 s.f) & 00005 5.f) |

Round each numbento 1,2 and 3 ’qn._' icant tigures.

1s.t —wa A 3 s.1.

(10) 7826

(1) 6.3753

(12)  0.04268

(13) 90634

(14  0.003759

(15) 47

(16) 0.248

an 783.89

(18) 0.46

Copyright ©,007 AWS Publications Ltd

-39 -

Use order of operation rules to work out the following
problems, then round the answers as stated.

(19) 189 + 219 = = @sf)
(200  50.00 -12.85 = = (1dp)
(21) 2486 +2 = = (2dp)
(22) 6342 x5 = = (2sf)
(23) 2368+3.73= = (2dp)
(24 9000 - 4376 = @sf)
(25) 2486« 2 = (1dp)
(26) 0.0067 x 4 = = (1sf)
@7 26062-7371= = (2dp)
e 56000 x 8 = = sf)
29  The weight of “ome boxes are =
listed below.
Rounc! eacn weight to 1 d.f.
then worfk out the approximate ’ 5 36kg, 9. 21kg,
.al weight of thes: hixes. 15.46kg, 8.25kg,
3 89kg, 6. 45kg
(30) A transfori comipany records
’rhe km< covered by one of its
1rucks, as shown below.
Rourd each distance to 1 s.f. - ‘
+hen work out the approximate "265km, 341km,
total distance covered. 704km, 476km,
. 198km, 534km
(1)  Here is Karen's shopping receipt. | —
Round each amount to 1 s.f. TeaaE eiaon
then work out the estimated $3.85 $12.70
$19.50, $6.25
total cost. $52.60, $104.95
_ $3.95, $29.65
' ™™ The aim of this activity sheet is to look at two different

* & ways of rounding numbers and apply these rounding
&% Fa techniques to work out estimated answers.

Suggested extension activity:

Make up similar questions as on this worksheet. Ask your child to
round the numbers using both methods - decimal places and
significant figures.

Example: A piece of wood is 4.945m long. Round this length to 2 d.p.
Two cities are 586km apart. Round this distance to 1.s.f.

Collect some supermarket shopping dockets and ask your child to
work out an approximate total, by rounding the prices to the nearest $.

Sign when
completed:
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Fractions / decimals / percentages

Week: AWS ’

Term:

0,9 L,-"’"
dxw/
Fractions can be converted into decimals, by dividing

the numerator by the denominator.
Example: Convert % to a decimal.

0.75

The top number of a fraction is called
the numerator. The bottom number is
called the denominator.

)

!

/
/

(ol

Zeros will need to be added after the decimal point.

You keep dividing until there is no remainder or there
4 ) 3.00 / are at least 3 digits after the decimal point.
Convert these fractions to decimals.
(1) Y4 @) 35
4 ] 1.000 ]
@ /g (&) ?/5

Decimals can be converted into fraction:, wit
denominators of 10, 100, 1000 etc.

Example: Convert 0.5, 0.25 and 0.019 f¢ fraciions

ol

Answers: °/10 ®/100 /1000
Some fractions can be simp!ified ... >
%w=Y2 and “ o V0= C'b
Convert these decimals to fractions. Simpln.ﬁ \d
) 0.2 (20) 08
) 0.3¢ (11) 0.05 :
™ 0.6 @2) 0.68
®) 0.84 \ 3) 0.27 e O
©) 0.06 &N (14) 15 aN’

>rcontages, by (g)
/0

Decimals ¢ 'r Ue _onverted into |
multiplying ' he decimal by 100
Example: Convert 0.5, 0.01% ana 14 to percentages

Answers:
0.5 x 100 = 50%, 0.019 x 100 = 1.9% and 1.4 x 100 = 140%

Convert these decimals to percentages.

(15) 0.4 % (20) 0.02 7%
(26) 0.95 % (21) 135 7%
an 0.06 % (22) 0.26 7%
(18) 0.52 % (23 2.04 7%
(19) 0.9 % @ 0005 %
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Percentages can be converted into decimals, by
dividing the percentage by 100.
Example: Convert 50%, 1.9% and 140% to decimals.

Answers:
50% + 100 = 0.5, 1.9% + 100 = 0.019 and 140% + 100 = 1.4

Convert these percentages to decimals.

(25) 25% (30) 2.5%
(26) 40% (31) 125%
@7 72% o\ (32) 9%
(28) 6% oY ) (33) A0
) 857 | - (3 ca%

¢ centcges are out of 10C. Percei..ages can be

P

(convp. red to fractions witli denominators of 100.
Example: Convert 407%, /4% and 9% to fractiori
Answers: “%/100 K’

e WAL 37/50 and 9/100

Conver{ thece percentages to fractions. Sifplify.

(35) 73% ¢ 4.5%
(36) 60% (4m) 125%
@7 42% PR ) 42) 5%
38) 8% S 43) 90%
(39) 35% (44) 05%

Fillin the missing fractions, decimals or
ercentages in the table below.

fraction decimal percentage
(45) <> (46) T 50%
%4 47 T @8)
(49) > 0.25 <1 (50)
(51) - (52) - 665%
(53) AN 0.8 > (54)
/s b (55) <> (56)
K e e

) The aim of this activity sheet is to understand that
5 * & numbers can be expressed in different forms and to be
«% £a able to convert between these different forms.

Suggested extension activity:

Using at least the fractions, decimals, percentages presented on this
page, ask your child to convert between each form.

Example: Convert zero point five (0.5) to a fraction and a percentage.
Convert sixty percentage (60%) to a decimal and a fraction. Convert
one quarter to a percentage and a decimal etc.

Sign when
completed:
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n Equivalent fractions / simplifying

The fractions /4 and 3/, are called
equivalent fractions, as they represent
the same part or fraction of a whole.

An equivalent fraction can be created by either
multiplying or dividing the top and bottom numbers of
a fraction by the same number.

1x4 ~
EXG/TIP/@S'" 1/3 X 4/4 = 3x4 = 4/12 ﬁ'\ 2
1 . 15:5 _ \-"-'r‘ ) €
20+ %5 5.5 =4 =

Create equivalent fractions by either multiplying or
dividing each fraction by the numbers given.

@ 1/, x5/ :%z

@ ey DT

() 2/3x8/g = =

@ 24/64+8/8:72:

®) 4/5x9/9:7: O
© /o071 I

To simplify fra_tions ineans to mak
the fraction ¢s sriall as possible.

24 _ 12 _F - iy
/48“ /24“ /12“3/6“ 2

Example:

Simplify these fractions.

™ /40 = A \\ 12) 7%/ = A
® 24/32 ! 13) og =

©) 42/, = T

1) /= as) /i =

(1) /gy = 1e) /500 =

17) 5 out of 25 people went to the

movies. Write this as a fraction,
then simplify your answer.
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Term: Week:

(18)  On 10 days during the past 4 weeks
it has been raining. Write this as a
fraction, then simplify your answer.

(19) 20 out of 95 apples were rotten.

Write this as a fraction, then
simplify your answer.

Fractions greater than 1.
13/, is a fraction great¢ than one and
is called an impropei €raction. kS

—_—

Improper fractions can be rewritten as
mixed numbers dnd vice versa.

Exanple: B/, 6', (13 +2 = 6 with 1 reainder)
49/5= 175 (4x3-12 plus 2 = 14)

Write these improper fiittions as mixed numbe: s,

@0  ¥/,= @)  Y/s

(21) S - (26) RY =
@2 s B >7) 75/, =
(23) 23/, = (28) 85/, =
(24) 2/ = (29) 75/ =

Werite iliese mixed numbers as improper fractions.

(30) . AY/4= @5  47/g=
31) 7 3%/5= @)  63/,=
@) 43%5= @n 8%/ =
(33 8% = @8  78/y=
@)  5%= @) 8%;-=

“ynfa
‘”_J_ The aim of this activity sheet is to understand how to
p * & create equivalent fractions, simplify fractions and convert
at #a between improper fractions and mixed numbers.

Suggested extension activity:

Using a collection of objects from around the house or money, create
word problems that require your child to write a fraction that can then
be simplified.

Example: If | have $40 and spend $20, what fraction did | spend?
Simplify your answer.  Answer: 2%, =1/,

Create improper fractions or mixed numbers and ask your child to
convert between both forms.

Sign when
completed:
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n More fractions

Term: Week:

AWS

"What's two thirds of $27?" asked Andy.
, Weritten as % of 27 or % x 27
[ ¢

85 "Firstly, divide 27 by 3 to find 3, then
€°  multiply your answer by 2 to find 2", said
J(J\\\! ) 4 _

% Tom. Answer: 27+ 3 =9,then9 x 2 =18

Work out each fraction of these numbers.

@ Find 3/5 of 80 =

@ Find 3/4 of 96 =
©) Find */; of 98 =
) Find °/5 of $72 =
(s) Find 7/ of $10.80 =
(6) Andy is /3 of the way through a cross-country
race. If the race is 9000m long, how K {",
far has he run so far? ; .h“‘}
9000+ = e \ A
@ Room 9 pupils are /3 of the way througn a 60
minute game of soccer. Fol hat i.
long have they been playing? "o
60 = A W = AN
®) A café has sa'd */ 01 the salad roli:
available for sd/2that day. If there
ar¢ 136 tiead rolls available, haw <Xy
maiy nas.the café sold sé rai e
Find a whole, given ¢ fracrio . |
Fifteen or !/, of 1/iz.Reom 7 pupils went t¢ &:ﬁuﬂ” |
the movies. Flow many pupils in Room 7. MO
Answer: 2 x /.= L if Y/,=15,then 2 x 15 = 0 pupils
©) Alex Mus read 64 pages or /3 of his book. 1
How ihany pages in 1fiis.boor?
(10)  Zoe has covered 12km or /5 of her bike ride.
How far does she plan to ride?
(1)  Evan scored 32 runs or /5 of the team total. <
How many runs did the team score? AR
@2)  Jackie spent $7.20 or ?/5 of her money. ¥gae:

How much money did she originally have?

To add or subtract fractions the denominators
(bottom numbers) must be the same, then add or
subtract the numerators (top numbers).

EXG/TIP/ZS'" 2/3 + 3/4 = 8/12 + 9/12 = 17/12 = 15/12
5 -23=")5 - )52 %15

If the answer is an improper fraction, it can be
converted to a mixed number, as above.

When subtracting, it may be necessary to convert a mixed
number to an improper fraction before subtracting.

Examp/e-‘ 51/4 = 33/4 = 21/4 = 15/4 = 6/4 = 12/4 = 11/2

Add and subtract iliese fractions.  Simplify your answers.

@13) /o + e

an Ji+3/5=

(15) YYs+3/4=

ae) 37/, + 4%/

AN 5w 21/, =

(18) /g -3%4=

(19) 34 Vet

@0) " 4%5-2%/3=

(21, 7Y5-53%/4=

@2  Two pieces of wood are 6 °/5 metres and 4%/,
metres long. What is the combined length?

23) A piece of wood 10 °/4 metres long is to have a

piece 6 */5 metres long cut of f one end. How
long is the piece that is left?

‘,_._._.,jm The aim of this activity sheet is to revise calculations
* & involving fractions, find a whole number given a fraction
&% #» and add & subtract fractions.

®
~

Suggested extension activity:

Make up similar number and word questions as on this worksheet that
require working with fractions.

Example: Your pocket money each week is $10. If you save Y/, of
your pocket money, how much do you save?

Karen ate '/, of one pizza and /5 of a second pizza. How much pizza
has she eaten altogether?

Sign when
completed:
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Week: AWS ’

Term:

Finding a percentage of a quantity can be
done several ways.

Example: Find 30% of $120

Possible methods:

(1) As 10% of $120 = $12, 30% would be 3 x $12 = $36.
(2) As 30% =0.3, $120 x 0.3 = $36.

(3) As 30% = /10, $120 x */10 = 3%/10 = $36.

Can you think of other ways?

Increasing and decreasing by a given percentage.

Example: If a book costs $16.00 plus a 40% mark-up,
what is the selling price?

Answer: $16 x 40% = $6.40, $16.00 + $6.40 = $22.40
Example: An $850 bike is to be discounted
by 20%. What is the discounted price?
Answer: $850 x 20% = $170, $850 - $170 = $680

Work out each percentage of these numbers.
@ Find 20% of 90 =
) Find 80% of 140 =
©) Find 665% of 150 =
@ Find 333% of 24.6 =
©) Find 75% of 1.08 = - A&
©) Andy is 50% of the way through ¢ ¢ioss country
race. If the race is 9000m long; hot e B
far has he run so far? t""fl'(:
@  Room 9 pupils are.75% of ne way through a <0
minute game of soccar. For how -
long have they beai playing? b |
L S
@® A cafelids sold 20% of the calid rolls

available for sale thiii day. It there
are 135 salad rolls available, how P
many has the cafe sold 0 far?

= 3

Find a whoi-, ¢/"-n a percentag
Six or 20% o' the Room 7 punils weiit fo the

movies. How many pupils in Roori 7
Answer: 20% = /5, if /5= 6, then 5 x 6 = 30 pupils

L MOVIES _

© Ali has read 64 pages or 333% of his book. i1
How many pages in this book?

(10)  Zoe has covered 12km or 25% of her bike ride.
How far does she plan to ride?

(11)  Evan scored 126 runs or 70% of the team total.
How many runs did the team score? ‘?

Increase or decrease these numbers as indicated.

(12)  Increase 68 by 25%

(13)  Decrease 200 vy 0% _
(14)  Tnercdse /5oy 150% __ _
(15) . Decrease 150 by 663%

The Goods and Services Tax(G51) 15 12.5%. Work cut the
selling price for these iteins after GST has been addzd.

(16) Walliman' Price = $16 + GST

@) Printers Price = $120 + GST

A sporis.shop is having a sale. Work out the new
prices after a 333% discount has been taken off.

AN (18)

-

Roller blades: Price = $195.00

(19)  Treadmill: Price = $954.00

¢ fn_q The aim of this activity sheet is to revise calculations
# & involving percentages, find a whole number given a
&t &a percentage and 7 & ¢ anumber by a given percentage.

®
&

Suggested extension activity:

Make up similar number and word questions as on this worksheet that
require working with percentages.

Example: Your pocket money each week is $10. If you save 20% of
your pocket money, how much do you save?

Jacob bought some new clothes worth $120 and received a 10%
discount. How much did he pay for the clothes?

Sign when
completed:
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Positive & negative numbers / Integers

Week: AWS ’

Term:

Use the thermometer scale to work out the new
temperature after the following changes.

(1)  Start at 17°C ... drop 14°C 20c
(@  Startat 0°C ... rise 15°C

0°c
(®  Start at 14°C ... drop 18°C
(5) Startat ~3°C... drop 15°C

Positive and negative numbers are called integers.
Integers can be represented on a number line.
A number line goes on forever, in both directions.

In a game with two dice, the two numbers that appear
are added together. Example: 6 +1=7

Odd totals are negative and even totals are positive.
Work out the final fotal if these totals were thrown.

6) 9,10, 3, 6,11, 7

@ 8,11,9,4 2,5

(8 3,8,11,10, 7, 4

9 7,5,8,9, 6,10

@) 4,9, 5.7 10 2 -
James has @ banteticcount that allows him

topend more moizy than he hatin it.
V/hen he dees, the account is in

Example: ove dralt and has a negafive halance.
-+—++—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+—+++++ . . .
“10 5 0 5 10 (31) Below are Jamés details showing the withidrawals
A number line can be used fo add positive and from h:rs pagk 7ou::1;‘ar:cdbdepos;‘rs infghisgink
. e A i ¢
negative numbers together. account ffor The month of DecemBErs” Aip®,
i ()
Examples: AE—— opening palance was $152.\‘ 0.
. N Worlt out the new balancz each day as money
T goes out of or into hisaccount.
~10 5 0 10
Q9+ A= \H ire Detail Withdrawal Deposits Balance
O+ —+ A - .+ Openilia
“10 5 0 B ) ‘ 1/12 balth S | $152.60
Use the tiimber iiie to add or subtract these integers. || 51, birtiiday 25 80
| . present .
-t + 4+t = ‘ == ‘-
10 5 0 5 10 repairs to
92
car 195.90
6 -/ = 11 -1-8= ‘[ .
) 12+7=__° "~ 1-8=____ o /12 movies 850
_ A - _-0 <
™ 11+8= (12) 0-2=0 " l16/12 | wages 219.40
® A R ) 12 -710= 19/12 | ChriSTMas |45 3
presents )
©) B 6= S —5-9= .
— — 23/12 | groceries 77.65
(20) 7 +73= (@) -11--7= i
24/12 Closing
. balance
Add or subtract these larger integers.
s P " €7 The aim of this activity sheet is to understand that positive
(16) 42+727=_____ @y 62-78=____ : * # and negative numbers go on for ever and are called
at ©a iNtegers.
an 78 +53 = (22) 31--45=__ Suggested extension activity:
Using money totals, ask your child to subtract more from a given total,
as would occur if you had an overdraft on a bank account.
18 i = 23 — -~ =
18) 64+785=_____ @ 60 89= Example: If you had $80 in an account and spent $115, what is the
new balance of your account? Also do the reverse .... start with -$90,
(19) =45 + 26 = (24) -23-47 = add $37 to your account ... what is the new balance?
Sign when
(20) 64+ 5H57=__ (25 —38--72=_____ | | completed:
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. A
{28 Standard form < ordinary numbers Term: Week: AWS
Some of the powers of 10 and the numbers they Complete this table by converting between @Q;
represent are listed below. standard form and ordinar‘y numbers. A_:LB*:;%
1_ 2 _ 3 _ 4 _
10°=10, 107 = 100, 10" = 1000, 107 = 10000, etc. Standard Form < Whole number or decimal
10"=0.1, 10%=0.01, 102 =0.001, etc.
7
To multiply by a power of 10 is not as difficult as it 3.9x10 @ @0
might seem. (11) & 7800000000
Examples: 3.5 x 10000 = 35000, 29.7 x 100 = 2970, S
915.4 x 0.01 = 9.154, 7.6 x 0.0001 = 0.00076 21x10 @ @2
In each example, the digits have remained *’;,ma (13) Aad 0.000034
the same, but the decimal point has moved. _.;'"“ 3 8.75 x 108 o w
Work out the following.
(15) 2 5620100
@ 5.3 x 100 = - A W _Sum——
42 x 0° & (16)
@ 2.7 x 10000 = 7 Ny
(a7 & C.000000689
©) 9.185 x 1000000 = —
9.014 x 10° s
@ 0.26 x 10° = | ’ W 5
(29) & 0.0000000000525
®) 25.3 x 0.000001 = JUL U I P &
A __(20)  An aelapiane fias traveled approxi ure'y'%
©) 2.1x0.001= 2.0 x 10" kilometres in the past 1wo days. &
) W Vrite this distance as en ordirary number.
™ 7806.1 x 0.00001 =
® 1439 x10* = w

Numbers written in staiord “orm have twe harts
.... a decimal numbei wit' itist ONE non-zero iiimbe
before the ccciiia! point and ... a power of 0.

1510% 39x107, 9.6 10" 2.

Write these standard form numbers as Q‘(

-1 "J

Examples:

whole numbers or decimals

Answers:
14000, 390G .00 0.0u96 & 0.000uU?5
) These stancard form numbers have Heen

convericd to ordinary numbei
9.7+ 10® = 970000000, & 230000 = 2.3 x 10°
21x10*=0.00021 Q0000045 = 4.5 x 107
Describe the relationsiiis between the
standard form power of 10 and the moving of
the decimal point in the whole number or
decimal.

N

—

(0. A frain travels #8300k per year.
Werite this distance in standard form.

220  Ina boitling plant, a machine can fill
jars at the rate of 3 per minute.

i he machine runs for 8 hours per day, —

7 days a week. F" =
Work out how many jars can be @ﬂ___;
| filled in 1 day, 1 and 25 weeks. —

Write your answers as ordinary numbers
and in standard form.

1 day:

1 week:

25 weeks:

T _ I I _
L F_ The aim of this activity sheet is to understand how to
b * & multiply by powers of 10 and convert between standard
& #a formand ordinary numbers.

Suggested extension activity:
Make up similar number and word questions as on this worksheet that

involve multiplying by powers of 10 and converting between the two
number forms.

Example: Atthe TWO Dollar Shop, a small toy costs the owner 35
cents to purchase. What is the cost (in dollars) of 10* toys?

4.5 x 10° km is the same as how many kilometres (ordinary number)?

Sign when
completed:
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Ratio & rates

Term: Week:

Using a ratio is one way of describing how often
something has happened and compares quantities of
the same kind.

Example: There are 18 girls and 12 boys in Rm 9.
This statement can be written as a ratio 18:12.
Write these statements as ratios.
There are 11 cars and 5 trucks in the car park.
Sam has 3 cats, 1 dog and 6 birds as pets.
Answers: 11:56 & 3:1:6
Ratios can be simplified, just like fractions.
Example: 40:50 = 4.5, 64:24 = 8:3

Simplify these ratios.

@ 810=__:  ® 56:96 = ___
@ 124=__ : (@ 65:45=__ :
(©) 30:16=__ . ® 105:30=___:
) 2854=__ . (9 6:9:5=__ )
6] 63:18=__ : (10) 8:2.10=

Write the information in each sanietice as a ratio,
then simplify the ratio if possibi¢

(11) At the movies therec werz 56
children and 16 acults.

(120  Atu ag;.,—ﬂ 'me, 5400 supported on
teciit and.3200 supported the other

(13) It rained two day: last week. Write the ratio

of fine days to et day: for last week.

Quantitic . ~an be < ured by a giv: n ratio.
Example:

a ratio of 1.2 between two

ake was cut into 1< pieces and shared in

iends.
How many pieces does each ‘riciid get?
Answer:

Add the ratio numbers. (1+3=4)

Divide the quantity being shared by this answer.

(12+4:=3)
(3x1=3,3x3=9)
One friend get 3 pieces and the other gets 9 pieces.

Multiply each ratio number by this answer.

Share these quantities by the given ratios.
(14) Share $60 in a ratio of 2:3
(a5)  Divide 117kg in a ratio of 7:2

(16) Share $99 in a ratio of 5:6

Copyright ©,007 AWS Publications Ltd

@7 Divide 60L in a ratio of 5:3
(18) Share $117 in a ratio of 6:7

(19) Share $400 in a ratio of 9:11

(20) Two charities raised $17505 in a combined
garage sale. If the money is to be
divided in a ratio of 4:5, how much
does each charity receive?

- TNE
'S
.---'8‘:."*—"’"-11.'-

A rate compares tvo ¢ ‘antities of a diffe 2nt kind.
Example: A car [ aveic! at 80km per hr
+o ¢ 12 _—
Meat coits £10.95 per kg. 4 B
> 8 )

Miik costs 52.95 per lit
A rate can bt worked out if you \'ﬁ
kiiow the two quantities.
Exariipre: Sam rides his bii.c {or 2 hours and  avers
32 kilometres. Wh:* is . /'s uverage speed? (‘... ‘hr)
| _ N

Work out the<e raic problems.

(21) ‘1 the supermarket, apples cost $3:50 per Kkg.
How much does it i.},

ost to buy 2kg?
apples do you get tor$,1.90?

rlow many kilogratisor

Petrol cists $2:10 per litre.
How mucii does it
cost 10 buy 35 litres?
How many litres of
netrol do you get for $52.50?

Pete drives his car at 95 km/hr.
How far does he travel in
3 hours at this speed?

For how long had he been driving
if he covered 142 5km?

(24)  Grapes are on special for $4.90 per kg.
How much does it
cost to buy 1.75 kgs?
How many kilograms of grapes
can you buy for $12.25?

%

¢ m The aim of this activity sheet is to understand how to
*' & create & simplify ratios and divide a quantity by a ratio.
& #a Also understand how rates are created and used.

LS

Suggested extension activity:
Using money totals and creating similar questions as on this sheet,
ask your child to divide the money total using various ratios.

Example: Share $66 in a ratio of 5:6. Divide 240kg in a ratio of 2:3:5.
If meat costs $14.95 per kg, how much does 0.5kg cost?

Sign when
completed:
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Number patterns or sequences

As people enter a party, they are given a spot (\

Term: Week: AWS

prize ticket numbered from 1 o 60.

(9  Rule = Multiply by 6, then add 5

Terms (n) 1 2 3 4 5

1 2 3 4 5 6 7 8 9 10

11 12 13 14 15 16 17 18 19 20

21 22 23 24 25 26 27 28 29 30

31 32 33 34 35 36 37 38 39 40

41 42 43 44 45 46 47 48 49 50

51 52 53 54 55 56 57 58 59 60

Sequence
numbers (S)

(10)  Rule = Multiply by 4, then subtract 7

Alex's lucky number is 3, so he started with the 3rd
person who got the first spot prize. He then selects
every 6th person, who also gets a spot prize.

@) On the grid above, circle all ticket numbers that

will receive a prize.
@  List the number sequence you created.

3  How many spot prizes were won?

@ A piece of fish costs $1.95. —

Terms (n) 1 2 3 4 5

Sequence
numbers (s)

For each rule, work out<the first 5 numbers in this
sequence and write your inswers in the tabics

(11) Rule: S 4n - 3

’Wm N 2 3 | .4 5
Sequeiice |

L lmber (b)| |

12) Rule: S = 15 -

Work out the number sequence &~ e " ‘

that shows the cost of buying 1,
2, 3,4 and 5 pieces of fish.

(6)  How many pieces of fish can
you buy with $13.65?

(6)  How many pieces of tich ¢
you buy with $21°42 —

Example: Use the rule ‘Mu!tiply by 5, Then subtract -
to create the first 4 t€rms o1 1112 number sequence

Answers:
O

Ist term: 2 x5 41 -
2nd{oim: 2 x50 -4:=6 @
3rd term: &S x5-4-=11
4th term: 4x5-4=1¢

The first 4 terms in this sequ - nc- 21, 6, 11 & 16.

Some humb< pa. =r: 3 or sequences can be ¢ ~ea! -a by
using a rule. Flies can involve mor: iian ¢he cperation
(+, -, xor<). C2cuence numbers ar: ciuled terms (n).

(13) _Rulet S:=8n+ 3

(14) Rule: $.=2n'-7

Terms (n) 1 2 3 4

Sequence |
numbers (i__ N

[ Teime (n) 1 2 © 4 5
’T“equence

(fiumbers (S) |

Terms (n) 1 2 3 4 5

Seduence
nuribers (S)

(%) /A number sequence is created using the rule ...

For each word rule, work out the first 5 numbers in
this sequence and write your answers in the fables.

(m  Rule = Multiply by 2, then add 5

Terms (n) 1 2 3 4 5

Sequence
numbers (S)

(®  Rule = Multiply by 3, then subtract 2

Terms (n) 1 2 3 4 5

Sequence
numbers (S)

Copyright ©,007 AWS Publications Ltd

S=7n-13
Find the following terms in this sequence.
6th term:
18th term:
32th term:
100th term:

(16) What term (n) in the

sequence has a value of 435?

-
* The aim of this activity sheet is to create number patterns

or sequences by using a rule.
ad e
Suggested extension activity:
Using everyday examples, create your own number patterns by adding
or subtracting a constant number from a starting number. Ask your
child to work out and describe how the pattern was created.

Example: If a hamburger costs $3.50, work out the cost of buying 1, 2,
3,4,5....up to 10 hamburgers to create a number sequence.

Sign when
completed:
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A
‘Like’ terms, expanding & factorising Term: Week: AWS ’

An algebraic term is made up of numbers Removing the brackets from an algebraic expression is
(coefficients), letters (variables) and powers (exponents). ||| called expanding.
Example: 9a°b 9 is the coefficient Example: Expand 2(a + 5) and 5(3c - 4)
Q ‘a’and 'b’ are the variables Answers: 2xa+2x5=2a+10
3 is the exponent 5x3c-5x4=15c-20

Like terms have the same variables and exponents. Expand these algebraic expressions,

Example: 4y?, -6y, 10y* are like terms,
but By, 7y3, -3y®are not like terms. (16) 7(a+8)
An algebraic expression is a group of algebraic terms.

a7 4(b - 10)

Example: 2ab® + 7b% and -6y® + 7y* + 2y + 8

Only like terms can be added and subtracted when 8) 3(4c+7

simplifying algebraic expressions. 29) X

Example: 4k* + 5k* = 9k° s Y A
(20) 70 - 3e)

Look at the fish shapes in these boxes. N

Box 1 Box 2 Box 3 E pand these algebraic expressions inen simplify by
£ | 2 o g1 | e | 55 | 8 e |2 | e | e || colienting like terms.
e | S b 3 ERd b 3 ERG
| i @ﬁe;@& S i .».L‘% 21) 3(f+5)+ 11
G e S| | E | e _ 3 i F_ﬁ W || (22) 70-6)+14
e | B | b RGP N oo RN S e B W
. . (29) 12 +4(2h -5
(1 How many of each fish shape in.each box? ( )
Box 1: =i = s Ons (24, 7(m + 3) + 5(m - 9)
Box 2 2oz = = 25 2(4k +3) - 2(2k + )
Box 3: #x = R = e = ‘ A .
@  How many of duck ish shapes altogeihel Factorising an ¢ ge .rai. expression is the opposite of
Totals = > - expanding.
otals, 2= = _
o Example: Factorise 8a + 12 and 9d - 15
Simplify 111#Ce algebraic expressions 2 o 4x 2.+ 43 4(20.43)
by collecting litie terms. ‘ 3x3d-3x5=3(3d-5)
@) 6a + 7¢ ‘ { actorise these algebraic expressions.
@ 12b - 0he 5 ) 8a + 56
® 8ab + &2 5ab @7) 7b-28
(6) f& g+ 9g - 5f (28) 6c + 54
) 8m - 6n+5m+2n (29) 6e + 10
®) 12p+9q+7q-13p (30) 5f + 20g + 40
© 8e + 9ef - 8ef (31) 12h? + 10h
(10) 8e? + 9e?f - 8e?f " € The aim of this activity sheet is to work with algebraic
- * & terms involving simplifying by collecting like terms,
(11) 2c + 8C2 _ 5C2 & #a expanding and factorizing.
Suggested extension activity:
2) 11e? - 15e? Make up similar questions as on this worksheet and ask your child to
simplify by collecting like terms. This can be done using objects first
3 2 _ 7.2 2 before you work with algebraic terms.
@3 129 79 * 89 f Make up similar questions as above to revise expanding and
(14) 11dze 9d€2 . 5d2€ factorising algebraic expressions.
Sign when
(15) 14w? + 9w?v - 8wv? completed:
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Solving linear equations

To solve an equation means to work out the number
that would go where the letter is.

Examples:
29+a=73, b+19=45,
7c =56 (where 7c means 7 x c)

Remember that the total on
either side of the equal sign, must be the same.

Use any strategy you like to solve these
equations. Be prepared to talk about what
strategy you used.

@ a+47=131 a =
@ b - 63=102 b =
) 7c =490 c =
) 40d = 640 d =
Using opposite operations to solve equations.
Examples: 3b-0 =21
: a+5 = 23 3b-£2+8 SuEe
a+5-5 = 23-5 R ~®9
a - 18 db+3 = 39+3
b = 13

Solve these equations usitig opjasite nperations and
show your working. Leave aricwers as mixed numbers

©) e+15 =0 (8 7Th-78 - -15
e = h =

(6) 6f+ 13 =96 (9) 99* 9=,5
f = g=

) 8g- 48 =19 (10) 4f + 82 =15
g= f =

Copyright ©,007 AWS Publications Ltd
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A
Term: Week: AWS ’
Some equations involve a combination of algebraic
skills to solve.
: 4(c+5) = 39 2d-5) = 47
Examples: 4c+20 = 39 2d-10 = 47
4c+20-20 = 39-20 2d-10+10 = 47+10
4c =19 2d = 57
4e¢+4 = 19:4 2d+2 = 57:2
c = 4% d = 28%
Solve these equations and show your working.
Round your answers to 2 d.p.
(1) 6k +3) =41 (12) 8(g-6) =37
k = g=
Use any strateg! you likc to solve these equatic
Be prepared 1o tollcabout what strategy you used.

working space

(13) Ak-9)=37 k=__¢

D 401-m =95

al = y_

(15) 9d+27 =111 +d=

(16) /(b+5)=80 b=

Read this word problem, write an equation and . |~ ___f'
then work out the answer. "
There may be more than one way to write the equation.

(17)  Sam ran 6 even paced laps around a local park,
but did stop during one lap for 21 minutes to talk
to a friend. If he was out for 1 hr 19 min 30 sec,
including the stop, how long does it take Sam to
complete each lap?

-

Equation:

-
—

' FIFIT,
"

The aim of this activity sheet is to revise simple algebra
" @ skills to solve equations and introduce methodical methods
<% @ lOSolve equations using + /- and x / + numeracy facts.

Suggested extension activity:

Make up similar questions as on this worksheet. Ask your child to
solve (work out) each equation using the formal strategies as used on
this worksheet or let them solve the equation using any strategy they
come up with.

Ask your child to explain their strategy, if it differs from the methods on
this worksheet.

&

Sign when
completed:
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Plotting ordered pairs / linear graphs

>
%

Term: Week:

To locate an exact point ona Yy

graph, co-ordinates are used.

Example: A=(21) B=(1,-2) cl’ A
Each pair of numbers in the

brackets are called ordered- 2] > 25
pairs or co-ordinates. 51t B

The first number (x-axis) is
across and the second number (y-axis) is up / down.

What are the co-ordinates of C & D? Answers: (-1,1) & (-2,-1)

(@  What shape is at the Y
point (2,3)?
(@  Write the co-ordinates 3o
to locate all the shapes.
&
squares 58 x
-2 2
circles
—-2
pentagons L ﬁ
(3 Plot and label the points A to F on trie graph below.
A=(32) J
W
B=(-2,3) ‘T «’— i
P.
€= (2,0) ’ ]
N
L= \\),1) 4+ — x
-2 Z
E=(3.-2) |
- ! )
F=(2-) | [ | Y.

When a set ot ¢iderea- pairs or co
-ordinatcs are ploiicd and when
joined forin a sivaight line, it is
called a line r graph.

@  Plot and join the points (#,y) in this table.
X y y
-2 0
0 1
2
2
4 3 x
-2 2
(®) Are your points in
a straight line? -
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The ordered pairs for a linear graph
can be created by a rule or linear equation.
Example: y=2x +1

A

By substituting values for x into the linear equation,
Y values can be worked out for each ordered pair.
Example: If x=-1,theny=2(-1)+1 = y=-2+1=-1
The ordered pair would be (-1,-1).

If x=0 &4, work out the two ordered pairs.
Answers: (0,1) & (4,9)

Work out the y values for each group of ¢rdered pairs
for these thres liiear ciuations (straight iinc araphs).

(®) LifeRA: =2 x
v )0 _ )0 _HE ) 6
™ LineB: y=2x-1
(1, )0 D0 )@ __)fe )
® Live CG:ly=1x+3
G2, ) (L), 0, )0 ), 2 )
© Line o y=3x+1
(4, (2,30, )@ ) 4 _)
|(10)  Plot and lakel e ‘our lines on the graph below.
y
5
|
" : x
-2
(A1)  Which lines have the same slope?

v .‘;_-.-.;mra' )

- * & system for locating & plotting points on a graph.

a #a Note: Order is important .... (x,y) or (across, up/down).
Suggested extension activity:
Make up similar questions as on this worksheet involving ordered pairs
and ask your child to plot each set of points on a new graph.
Create some linear equations and ask your child to create some
ordered-pairs that they can plot. When the plots are joined, it should
create a straight line.

Sign when
completed:
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. A
RSJl The metric system Term: Week: AWS
The basic units of the metric system are More metric conversions.
the metre, the gram and the litre.
. _ S @) 8100g = kg v 135L= mL
What can you measure with each unit? g
Answer: Use metres to measure length, grams to measure | | ®® 0.5kg = g @2 750mL=____ L
mass (weight) and litres to measure capacity (volume). @9 91t = kg @3  11470L = KL
Larger and smaller units are all based on multiples of
10, such as kilometre, centimetre and millimetre, etc. | | G® 3950kg=__  t+ @G» 51kL=__ L

How much larger or smaller is each unit compared with
the basic unit? Fill in the missing numbers.

kilometre 1) times longer than a metre

metre standard unit for length

When adding and subtracting length measurements,
the 'units' must be the same.

Example: Sam has two jieces of wood.
One is 75cm long
What is the to ol lergth ¢ wood in ri=ires? ¢

2d 1/1c other is 2.9m lone.

centimetre ) times shorter than a metre Answer: 070 =2 = 3.65m
millimetre ) times shorter than a metre Angiwrer thes2 questions in the metric ufiits stated.
tonne 4) times heavier than a kilogram ‘ (35) .59+ 9 = ? (answer in millig-ams)
kilogram (5) times heavier than a gram | ‘
standard unit for weighit 36) 900m+ 4.6km+ 8/0cm =? (answer jifinetre
milligram (6) times lighter than @ araiii 4 N
- (37) 4B0UG-3.9kg = ? (answer it kilogiars)
kilolitre @) times mofc volume than a litre
standard urit for volume v
“— S L A @Ed) 28296m x 9 =2 (answer i kilofietres)
millilitre 3) fimes 16ss volume than a lilie |
Using each of the abve fiiet vic units only once, writ @9) 132.7cm S05mn) =2 (answer in millimetres)
the abbreviatzdetiic unit/s that would be used 10
measure the following. Example; mcire ~m 2
iy p (40) 000mg + 8.7g + 0.53kg = ? (answer in grams)
®  The weight of a large truck.
(10)  The height of a tall 112 (41 /865kg - 5.7t = ? (answer in tonnes)
(11)  The volume of a.small cup:
. N U (42) 7280mL = 8 = ? (answer in litres
(12) The thickness ot cardboard. ( )
@a3) The capaciipof a large bucliat.
: 9 43) 0.85m + 264cm + 4100mm = ? (answer in centimetres)
(149)  The weight of an apple:
(15) The distance between twd cities. (44) 5H80OL x 6 =? (answer in kilolitres)
(16)  The thickness of a text book. A
f.lr.'m.‘a'
. . . The aim of this activity sheet is to revise the units of the
Conver"rmg between metric units. *_‘ L metric system and to convert between the various units.
-’ -
@) 25m-= mm @2 135¢cm = mm Suggested extension activity:
Ask your child to convert between different units as in Q17 to Q34 and
_ _ add or subtract various metric measurements presented in different
18)  1250mm = m (23) 9650m = km units, such as in Q35 to Q44. Make up words problems.
_ _ Example: From a 2.4m length of wood, 800cm is cut off. How long is
(19) 7.2m = cm (24 58km=___  m the remaining piece of wood? An empty truck weighs 7.5t and when
full it weighs 13.75t. What is the weight of the load? etc.
(200  396cm = m (5 32g= mg .
Sign when
@)  52mm = cm  (26)  4250mg = g | | completed:
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2-D and 3-D shapes / Nets

Week:

/[ /]
Term: ’

AWS

Name these 2D shapes.

. O

&)

3

&

)

)

@

®

&)

(20)

The 3D objects are based on many of the 2D shape ‘

Example. A cylinder is based on a circle
If you stacked some 50c coins on top of
each other, it would look like a cylinde

Name these 3D shapes.

#(?%}s

(11) @

N A5k
(12) ‘ i
N & =) ﬂ
v PV W .|
4 1=
Ir'.\l\... -
(15) < -
6) £ ~
This block of ¢ 2e<” hu' oeen sliced as sk wn.
What sha e woula 1112 sliced end 'ook like:
il nswer
sliced her ‘ >
a fillangie
If you cut Thr‘ough 100,0ct, you seea
cross-section ¢ the object.

Look at these objects and describe what 2D shape you
would see if they were sliced along the dotted line.

17 3
@an ARG A

(18)
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(20) Draw a line on this 3D shape so that
when it is cut, the cross-sectional 2D | -
shape created would be an circle.

(21) Draw a line on this 3D shape so that

~ when it is cut, the cross-sectional 2D
* shape created would be a triangle.

A cardboard box !2s t2en unfolded and Ic d out flat.

Examp/e I diagram of the untcided

= cubeis called « ret. T'2 small
r ‘ black strips on the fides are the
- flaps needed toiold the cube
togeiner.

. into the box, what 3D
Answer. A cu e.

If this net was refalied bac

obJecT would it "‘"n.

k—

Look at this v
Sunbject does it
create when it is folded?

(22)

Look a* this net.
Wha' 3D oujcct does it
create when it is folded?

8cm
‘ Use mathematical 2em
instruments fo .,
accurately
draw this net 2cm
on cardboard. 2em

(24)  Cut out this net and fold to make the 3D object

and name the 3D object you have created.

™™ The aim of this activity sheet is to revise the names and

‘* & features of simple 2D and 3D shapes and recognise what
o« #» 2D shapes make up a net of a 3D object.

Suggested extension activity:

Select one of the 2D or 3D shapes on this activity sheet. Describe the
shape by it's features and ask your child to draw and name the shape.
Example: | have four corners, all my four sides are the same length.
(Answer: It could be a square or a rhombus)

Sign when
completed:
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Perimeter

Week: AWS ’

Term:

Distance around the outside.

Imagine you are at the corner of a netball court. If
you walk along each side and back to your starting
point, the distance you have walked is called the
perimeter of the court.

Example: A 4?|m
Add the length 20m - gf;/@/ 4 20m
of ALL sides. PR
1
" 40m

Answer: 120m

The same number of small lines on each side means that
the sides are the same length, i.e. opposite sides are equal.

Look at each shape below and work out the
perimeter. Remember to include all sides.

@ ) |
2.5m r
—
9.2m T
LY
9 8Rctii
@ 17m ¢ .
-
4.7cm J
© 19mm
2.1m \ 45
@) If the pcrimeter of a cqudrz is 48m,
how long is each side?
(8  If aperfect hexagon has a perimeter of 72m,
how long is each side?
(9 A rectangle has a perimeter of 56cm. If the
short side is 11cm, how long is the other side?
(10) A rectangle has a perimeter of 90cm. What are

the side lengths, if the long side is twice as long
as the short side?

Copyright ©,007 AWS Publications Ltd
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(11)  On the grid below, shade in squares to create an
H shaped courtyard design that has a perimeter
of exactly 30 metres.

Note: The squares are 1 metre squares.

This parcel is to_be
held togetherwiith
colourful ritibon

?]l 195mm
/)// ,

-

240mm e 280mm
(12) " Work out the length@t ribbon that is needed to
go around the pareal, inien add 650mm to allow
for a bow to be fled.
@3) If thetibbincusts $0.75 per metre work out

the cost of the ribbon required.

This paddock is to hava
a tour wire fence buil
around the outsitle

(14 ‘orls out the perimeter of this paddock.

(15, Work out the length of wire needed to build the
fence.

(16)  Wire comes in 50m rolls at $65.20 each. How
many rolls are needed fo fence this paddock and
what is the total cost ?

A in”.m. The a.im. 01; this a(.:ti\./it)./ sheet. is.to. revise périheter, 'th.e

& * & distance around the outside'. All closed 2D shapes, with
at #a the starting and finishing point the same, have a perimeter.

Suggested extension activity:

Find some shapes around your house, for which you can work out the
perimeter.

Example: The edge of a table, the boundaries of your properties, etc.
where the starting and finishing points are in the same place.

Ask your child to measure ALL sides of the shape using a tape
measure, ruler or their own feet. By adding up all measurements, you
are working out the perimeter of each shape.

Sign when
completed:
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. A
PM Il Area - Square / rectangle / triangle Term: Week: AWS ’

“If you can paint it, it has AREA " said Robert. Work out the area or the length of = £

This shape is made up of 2 rows of 5 squares. the missing side for these shapes. =X O

height

What is the area?

base

Answer: 10 square units (2 x 5 = 10 square units)

bh

Area of a rectangle or square

Work out the area of each rectangle or square.
(The units for the answers will be mm?, cm? or m?.)

3
@ 4cm © 2.3mm
4cm 5.2mm
@ ;: - () /A\
4 2.2m
\ //E '

This rectangle has been cut in ' alf. Thec area of a
triangle created will be half *hai - f tThe rectano'=.

height ' JAiza of a triar e -

|

5cm €
6cm
Answers: A = % x6x #=1x5x4
=15¢” = 10m?
Note: Ti» uo-= and .ieight always intcisect at v ht angles.

Work out 1/12 area of each trianga.

(The units for the answers will be tim®, &m? o 2.

) 14m @

)
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What is the area of a rectangle with sides of 4.5
centimetres and 9 centimetres?

&)

o) What is the area of a triangle with a base of
7mm and a height of 12 mm?

a1 If asquare has'inarea of 81cm?, haw long is
each side of 1 “quare?

et Ii the ‘rea of a triangle ic 108cm “and the

heigiii is 12cm, what is the Lasc of the triangle?

This diagiam Shows the dimensions
of a triangular sail ror a yacht. {

@3) [ Work out the areaot —

this sail.

If sail clothetst $375.50 per m?, how much
would i1 cost to replace this sail?

(14)

“11 1.2m
This diagram shows :

the shape of a new
courtyard.

(1s) Work out the area of this compound shape.
Note: Not ALL measurements are needed, so use

only the side lengths you need.

tur.‘m'.'J

The aim of this activity sheet is to revise area and to use
" @ various formulae to work out the area of squares,
-t rs rectangles and triangles.

Suggested extension activity:

Find square or rectangular shaped objects around the house that can
be measured. Ask your child to measure the ‘base’ and ‘height’ (or
width’) of these objects and work out their areas.

Example: A door is 0.7m by 2.0m. Area=0.7 x 2 = 1.4m?.

Make up some problems as on this worksheet, that involve area in
practical situations, such as finding the area of the living room that
requires new carpet etc.

Sign when
completed:
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Area - Parallelogram / trapezium

Term: Week:

A parallelogram has two pairs of parallel sides.

' If a triangular shape is cut off one
. end and moved to the other end, it

A
forms a square or rectangle.

Area of a parallelogram = bh

Example: Find the area of these parallelograms.

6cm/ 9m

8cm
Note: The base (b) and height (h) always intersect at right angles.

Answers:
A = 8 x 6 = 48cm?
A = 5x 9 = 45m?

Bm

Work out the area of each parallelogram.

@
‘ 4.5m
8m
@ .
A trapezium has one pair ot  aru..cl sides.

Origii

C BN
V —>

- New shape E

3

&

7.5cm

A triangular shape i< cut o)
each end and carn be moved to
form a squire ar reciingle.

Area of a 1 arzzium = i(a + b)

Note: 'h’is always the distdiice between e parallel sides.

‘a’ and 'b’ are the lenithe two parallel sides.
3mm
Example: vy N Answer:
Find the area of A=203+30)16
. / 16mm _ 1 o
this trapez . 3 =316
;I . v 9 ' = 360mm?

32mm

Work out the area of each trape

“

10cm
(5) @)
3.8cm
7cm
(6) (8)
2.5m
7.5m
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Work out the area or the length of
the missing side for these shapes.

&)

What is the area of a parallelogram with a base
of 4.5cm and a height 9.7cm?

(10)  What is the area of a trapezium which has
parallel sides of 20m & 14m and the distance (h)
between the parallel sides of 7.2m?

@a1) If the area of a parallelogram is 108cm? and the
height is 12cmi what length is the base?

(12) The ‘o._..r'apezium is 2401 If ihe parallel

sides are 14m & 18m, what is the disiance (h)
between the parallel sides?

This diagram shows. o N 1an
the shape of a new 7m /
courtyard. — A W = A
10m ?2m
(13) { Waork out the area of this courtyard.
lote: Not ALL measureménts are needed, so use only the
side lengths you need
@4) If it costs $11.50 per m? to cobble the
courtyard, what will be the cost of the cobbles?
(15)  WHhar shapes make

up this compound
shape?

2.1m

Work out the combined area of this compound
shape.

(16)

L m The aim of this activity sheet is to work out the area of
* & parallelograms and trapeziums, given what is known about
a? ra the area of squares / rectangles / triangles.

&

Suggested extension activity:

Find objects around the house that are shaped like parallelograms and
trapeziums or create these shapes using card. Ask your child to
measure the length of the base and the height for each object and
work out their areas.

Example: What is the area of this triangular shaped kite?

Sign when
completed:
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23 Circles & compound shapes

Term: Week:

The distance around the outside of a
circle is called the circumference. ————

nd = 27nr

Circumference

where ©t = pi = 3.14 (2 d.p.), d = diameter and r = radius.

Example: The diameter of Joe's bike wheel is 0.9m. How
far will he travel with each revolution of the wheel? ;
Answer: C=3.14x0.9 = 2.826m (3 d.p.)

Work out the perimeter (circumference)
and area of these compound shapes.
Use n = 3.1 and round your answers to 2 d.p.

Work out the circumference of each circle.
Use & = 3.14 and round your answers to 2 d.p.

1) ®3)
2 4
(5) The circumference of a circle i 274 75cm.

Using © = 3.14, work out the naditc of this circle.

3 circumi th (e

SEVEY L

>ne

A circle can be cut {nte
sectors and rearrange!
to form paraliclogram.

Area = ' »°  wheren =pi=J14(2dp), r=radius.
Example: The radius of a ¢ ~cular patterned *+44
area is 5m. What is the ared o1 ihis pattern? g:m- pe s
Answer: A=314x 7=7 5m®/ dp.) $re Y

Work out the aiéa of each circle.
Use n = 3.14 ¢iid round your answers 10 2 d.p.

® ® radius = 6m
@ (©)]
(10) The area of a circle is 279.78cm?.

Using = = 3.1, work out the radius of this circle.
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11) T working space
|
. 18cm
| 33cm
P= A=
(22)
pP= A=

Work out the area. o' ili2 shided regions. %
Use nn = 3.14 and round your cnswers to 2 d.p.

(13) woring space
‘ - N N
(14) r ‘
1
N

|

2.7m

t.,r.-m'.u

The aim of this activity sheet is to work out the
" @ circumference (perimeter) and area of a circle using a
ot T2 given formulae and work with compound shapes.

o

Suggested extension activity:

Locate various circular shaped objects. Ask your child to measure
their diameters, then use this measurement to work out the
circumference and areas of the objects.

Example: A C.D. has a diameter of 11.8cm. What is the area?

Make up similar problems as on this worksheet that involve area or
perimeter calculations of compound shapes made up of circles,
squares, rectangles, parallelograms and trapeziums.

Sign when
completed:
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A
24 Volume Term: Week: AWS ’
Tf you can fill it, it has VOLUME. y . @
If you know the area of the cross-section of a 3D @ ) lme§
object, the volume can be calculated using the rule ... = mm? |
Volume = Area of cross-section x depth 14.6cm
Area of V=
. S Volume ©®)
Crozsfé';cﬁ'on e 15 x 9 = 135m® - om?
Work out the volume of these objects, given the area 9.2cm
of the cross section and the depth. o A + this 75m |
The volume units are written as ... mm3, cm® and m3. @9 new concrete peih s /om long,
1.5m wide and U251 deep.
X-sectional area = 15¢cm” Work out'ihe voluriz of concrete in this path.
@)
i 2.7cm S »
””” X-sectional area = 24m? @1)  The volime of a rectanqular prisfi is 480cm?,
2 vitl a base of 8cm arid a depth of 12cm.
@ » I| Work out the heiglit of the prism?
3.5m 1 ‘
5.2m_/.~--""' (12) The Wlume of \_r'ecfangular' prism i c—S...._..tS_,_
L with a Lase 0f°6.4cm and a height of 7.2Cm.
) A Wit out the depth of thepilam: (Round to 1d.p.)
X-sectional area = 14m? v g4 o .
seciiolial area = 4m’ 3) e volume of a triaiigular:shaped prism is
— 2125¢m?, with aheighi of 10cm and a depth of
4

Many 3D oh ccic have a cross-section
based on siric 2D snapes. Y
This informat ot can be used M3 p~depth

to work out the volume.

Example: Volume = hasc x heio' i x depth

L

Work out the valume o1 se simple 3D shape:
Use n = 3.14 and round your answers to 2 d.p.

)

50cm. Wor! cut the base of this prism.

12m  TVhis diagram
shows the
25Mm  dimensions of a
swimming pool.

The pool is filled with water to a height 10cm
below the top. Work out the volume of water in
this swimming pool.

(15)  The pump used to empty the pool, can pump
water at a rate of 9m? per hour. How long would

it take to empty the pool?

im_urm

The aim of this activity sheet is to revise the concept of
" @ volume. The volume of a simple box shape can be
worked out if you know the base, height and depth.

-

a™ e

Suggested extension activity:

Find a selection of objects around your home. Ask your child to
measure the appropriate measurements so that the volume of each
object can be worked out. Work out the volumes.

Copyright ©,007 AWS Publications Ltd

Example: A shoe box, a match box, a cake tin etc.

Sign when
completed:
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A
Reading and drawing angles Term: Week: AWS ’

Angles can be defined by their size.
Use the geometry words to fill in the missing words in
this table. '

Angle size Angle name

greater than 0° but @
less than 90°

The instrument for measuring and drawing angles is
called a protractor. There are two scales ona
protractor that you can use.

Example: Which scale do you use and what is the size
of the angle drawn below?

»
90°0ora % turn |(@ porusg b

A0
greater than 90° reflex Xy

but less than 180° @) Answer: Inside scale -
and 60° (60 degrees

right

180°ora 3 turn |(@) acute

B
greater than 180° I aioll \
but less than 360° | T

A diagram of an angle is made up of C
two lines (DC & DE) and a point
where the lines meet (D). D

This angle can be named using the three letters. ~ - ‘
Example: ZCDE or ZEDC, where the £ symbol mear: arg />

Look at this diagram. A
Use a protracior to measure theSoarndles.

E .. D
(12) £ L ACB = 14) . /BEF =
| & Fec - is)  LAEG-
F

|

| | Using the lirz ¢/ieady drawn, draw the following
: angles to the nearest degree, using a protractor.
NI N Y

A — o C (16) | LARC = 40°

6  Name the angle‘harkcd with a ©.

() On the diagran mark ZFEA with an X.
A B

@7) «SRT=115°

(®  Onthediagrain, mark ZBAE with an'”

©) Name at least one ...

acute angle -
right angle
S R
obtuse angle &
™™ The aim of this activity sheet is to define angles by their
* & size, name angles using letters and draw angles using the
(20) Onthe diagram, mark a reflex o @ aPpropriate equipment - a protractor and a ruler.
. uggested extension activity:
angle with the letter V. Sugg oy

Draw various shapes involving over-lapping straight lines to create
diagrams as on this worksheet. Label the corners with letters, then ask

(11) STarTing with letter F on the diagram above your child to group angles by their size and measure named angles.
write the letters in order going around the Example: On this diagram, these angles are all acute. There are three

o - ) ) ) obtuse angles. ~EBC is 78° and <ABC is 102°
outside in an anti-clockwise direction.

Sign when
completed:
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Term: Week:

Angle rule revision

Adjacent angles on a straight

b
line add up to 180° :

a+b=180°

Angles in a triangle
add up to 180°

A a+b+c=180°’

Angles around a point b

add to 360°

[

a+b+c=360°

(1)  Work out the size of the missing angles.

(Note: Diagrams are not drawn to scale, so do not measure.)

»

79° b

~_
49° -

j
i -
/54°

124°

,’//300\\\\

36°
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3

&

)

A line of shelter belt trees are
growing on a 4.5° lean due to a
constant wind from the north.

Work out the acute angle the trees i;/
make with the ground.

This tree is growing on a bank that
has a slope of 20°.

Work out the acuiz angle the tree
makes with thé groind (©).

a8

A lacer is leaning up againsi a :
building. The angle at ##e top is 16.5° :
Work out the ang'e the lacder
makes with the'(round

d}

A secand ludder makes an ahgic with the ground

that is Tive times larger thon the angle at the
2p. Work out the aligle where

the ladder touchts the house.

The chiriney annis roof makes an
obtuse atigle of 107°.

Worls out the slope of the roof.

e

Work out the reflex angle these hands make on
each clock face. Do not measure.

L1

ﬁur.ur)"u

at s
Suggested extension activity:
Draw similar diagrams as on this worksheet. Ask your child to work
out the missing angles using the various angle rules. Remember the
diagrams do not need to be drawn to scale.

The aim of this activity sheet is to use angle rules to find
the size of missing angles.

Sign when
completed:
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Interior angle sum of polygons

Week: AWS ’

Term:

A polygon is a closed 2D shape that
has three or more straight sides.

Example: A triangle has 3 sides,
a quadrilateral has 4 sides ...

To work out the sum of the interior angles of a
polygon, use only ONE corner, from which to divide
the polygon into triangles.

A 4 sided polygon can be
divided into 2 friangles.

= 2 x 180° = 360°

Example:

4 sides

Using the method above and the diagrams below, work
out the interior angle sum for the polygons listed in
the table. Start from the marked corner.

()  Create aword or algebraic rule for working out
the 'sum of the interior angles’(S) of a polygon,
where n = number of sides.

Number Name No. of Interior angle sum
of sides triangles calculation
4 quadrilateral 2 22X 1S = 300
5 |@
6 |@ “
7 |® QW
8 |@® N
9 |G \
10 |® W |

(8  Use your rule to work out the interior angle sum
for a 15 sided and 20 sided polygon.
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(9 Work out the size of the missing angles.
(Note: Diagrams are not drawn to scale, so do not measure.)

Y

67° b

Za=

)

L
> # & interior angles for different polygons and use this
&% @ INformation to find missing angles.

The aim of this activity sheet is to work out the sum of the

Suggested extension activity:

Draw similar diagrams as on this worksheet. Ask your child to work out
the missing angles using the various angle rules. Remember the
diagrams do not need to be drawn to scale.

Sign when
completed:
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Angles & parallel lines

Term: Week:

These arrows are pointing in the
same direction.

"Are the arrows parallel or
perpendicular to each other?” asked Joe.

Answer: parallel (perpendicular lines cross at right angles).

Corresponding angles are a
EQUAL

o

Alternate angles are a

EQUAL b

a
b a+b=180°

Vertically opposite ap b

angles are EQUAL d X¢
. 4
Use the angle rules above to answer questions 1 te

Co-interior angles add
up to 180°

o o
non
a o

A

(0  List 4 puirs of corresponding angles.
2  List 4 pairs of alternatz angles
@®  List 2 pairs of co-inieric angles. D
(@  List 4 pairs of vertically opposita angle:
(5) Work out the size of the #iissing angles.
(Note: Diagrams are not drawn 10 scale, so do not measure.)
47°
b
a
c 103°
d
e

85°
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Zd= 4 A
Ze-= _lsr= | =L
: D E
diagram
/
A A O U
Lines(AG, 7 & Ce are parallel, lines AC & GF are parallel and lines C6

& DF ane parallel. ZBHC = 38°and 2D 7 = ¢0°

(6, = €xplain why ZBF& = AC".
@  Explainihy ~6CE = 38°.
@  Explainwhy /GHF = 38°.

)  Explain why #BFE = 120°.
(10) Work out the size of ZCGF. Give a reason.
(11) Work out the size of ZCAG. Give a reason.
(12) Work out the size of ZCDF. Give a reason.

‘,_._n_urm
* » The aim of this activity sheet is to use angle rules for

parallel lines to find the size of missing angles.
at e

Suggested extension activity:

Draw similar diagrams as on this worksheet. Ask your child to work
out the missing angles using the various angle rules. Remember the
diagrams do not need to be drawn to scale.

Sign when
completed:
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Week:

/[ /]
Term: ’

AWS

Compass points and compass bearings

When you do not have a road to follow, using a @aﬁﬁ
compass can help you find your way around. ‘==l

@ Example: Jack flew his plane 4km south,

then headed southwest for 6km.
Using letters to represent the points of the compass,
write in the missing compass points.
Example: southeast = SE

N

)

(©) 1)

A direction can be given as a bearing.
Measured in a clockwise direction from North, the
bearing is the angle between north and the direction.

Example: East has a bearing of 90 °.
West has a bearing of 270 °.

In this diagram, the angle in the
clockwise direction between
NORTH and line AB is 60°.

That means point B is at a
bearing of 60° from f int A.

Sw
@

On this diagram below each letter represents a town,
the distances between Town A and all other towns

are shown. R .“
[ 14 >, d
P
21.4km r
/ 17.b1\rn
e %e
39.2km E
/
%
B (27okm 4 Bkm 42.6km
/ o \
@) Which town is souih of Town A?
(8) Which town.is 4¢ Akm

from Town A

Write the compast directions and distances required
to travel fior Town A to all othar Towns.

9) Town A to Town B _

@) TownAtoTownC ___

@11) Town A to Town D

(12) Town A to Town E

3) Town A to Town F

(14) Town A to Town G

(1s) Town H is 25km NW of Town A. Using the scale

below, draw on the map the position of Town H.

[
Okm
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Work out thé bHearings tor the

points mared ¢l This compass,
0
@ L L
an M ¢ @
oM
- 70° — — 90°
@ O N -
_ QN P \~\\s
(20) / \\\N
S W
(22 Iy
180°
22) ' Point R is at a bearingof 330°

Mark point-R or ine compass above.

Use a-protracior to I
meas he bearings
ot points X, Y and Z
‘ ‘rotii point C. X
(\2\ 4 X
C
23) Z
Y
(25) Y
™™ The aim of this activity sheet is to use the compass

" @ points and compass bearings to describe or locate
ot T2 points.

Suggested extension activity:

Use a street map, a map of New Zealand or create your own map.
Locate NORTH on the map and ask your child to locate various places
on the map. Describe the location of these places using words or
bearings and work out the distance using the scale on the map.
Example: Cave is 102km northeast of Mt Hutt or if you travel from Mt
Hutt on a bearing of 45° for 102km, you will arrive at Cave.

Sign when
completed:
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Constructions & loci

Week: AWS ’

Term:

Draw a triangle ABC with sides C ( —ares
lengths of 4cm, 3cm & 2.5¢cm. ><

Where the arcs cross, label this point C.

Join AC and BC with straight lines to complete the triangle.

/ N

25cm NJem

Answer: S N
/ N

Draw a 4cm line with a ruler s N
(label AB). 2 4cm B
Draw an arc, centre A with radius 2.5cm. P
Draw an arc, centre B with radius 3cm. /

A locus is a set of points that satisfies a given requirement.
Loci is the plural of locus.

Example: Draw all points that are 18mm from point A.
Draw all points 20mm from line BC.

m—~ e——=""""K20mm C
Answers: /~ ™ ’Y
/ 18mm/7\ B l( =
. | ) | 20mmv___———~
A circle, A ji PR
) \
radius 18mm S Parallel lines 20mm either side of BC.

~ -

Draw the locus
that is 1.5cm

)

(1) Usearuler and a compass to construct triangle
DEF, where DE = 6¢cm, DF = 4cm and EF = 3cm.
b 6cm E
(@ Usearuleranda

compass to
construct triangle
GHI, where all sides
are 30mm long.

Draw a triangle DEF, where
ZDEF = 40°, EF = 4cm & ET = 3¢

Answer:

Draw a 4cni line with ller
(label EF). E
Draw ~DEF = 40" on line EF.

Draw an arc, centre E with radius 2em,
label this point D.

Join DF with a straigh! |12 1

complete the triangle DL

Use aiiler, protiactor and a compass 1o
constrict triangle LMN, where ZLMN = 55°,
ML = B¢ and MN = 2 5em.

3

L M
Bem

Use a ruler,
protractor and a
compass to
construct triangle
RST, where ...
ZSTR = 45°,

TS = 45mm &

&

‘\

TR = 30mm.
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from point E.

mMe

Draw the lotis
that is 12tim
from point F

)

n  Draw the loci \
that are Bmm \
from this circle N

A pel laiib is ried to a 2 metfre rape, that
i¢ attached to a 5 metre wite. he rope
can slide down the wire'and thadamb can
H 1ove either side of the wire.

®

"Wy
Using a seale G 1&m = 1Im, complete the diagram

to show The locus of the maximum distance the
lemib can walk.

Bm wire

Work out the distance the lamb walks doing one
complete revolution of this maximum distance.
(C = 2nr, where & = pi and use = = 3.14)

&)

-
I,

"
. i' @
ad e
Suggested extension activity:
Ask your child to draw accurate scale diagrams of various shapes or
pathways, given specific measurements.
Example: Draw a rectangle with sides of 30mm and 55mm.

Draw a parallelogram with sides of 4cm and 6cm, with co-interior
angles of 60° & 120°.

The aim of this activity sheet is to draw accurate diagrams
of shapes or loci using mathematical instruments.

Sign when
completed:
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31

Pythagoras and trigonometry ratios

The longest side of a right-angled triangle is opposite the right-

angle. It is called the hypotenuse.

The Pythagoras relation states ... b a

'‘the square of the hypotenuse equals the
sum of the squares of the other two sides' c

‘ a’ = b° + CZ, where a = length of the hypotenuse. ‘

Example: Find the length of side x, rounded to 2 d.p.
Answer:

x?=29%+17? X

X2 = 8.41+2.89 17¢m
x=VI1.3°

x=3.36 (2d.p.) 2.9cm

Work out the length of side h on these triangles.
Round your answers to 2 d.p.

h?2=12%+32

@ h? =
3cm

h=

@ 1.8cm &
h= Jem

®3)

h=

"

For this right «10!“d triangle, ZA is the
The sides can be named as follow:=

AC = Hypotenuse h

ypotenuse
(The side opposite the right angle 0
AB = Adjacent “ide
(The side next to the
BC = Oppositeside
(The opposiTe

osite

A [

1riced angle)
adjdcent E

rhe marked angle)

Example: If anglc C was the marked argl2 atove, name the
adjacent and oy posite sides.
Answers: CB = udjacent side, AB

opposite cide.

arlzd' angle.
C

H ‘raction to a decimal (round to 4 d.p.).

On each triangle, one angle is arked. Label the
hypotenuse (H), opposite (O) and adjacent (A) sides
relative o the marked angle on each triangle.

&

®
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Term: Week: AWS ’
The three trigonometry ratios are ....
‘ . _ _ length of opposite side o ‘
Sine of ZA = length of hypotenuse (s =)
‘ . _ _length of adjacent side A
Cosine of ZA = length of hypotenuse (C="h)
_ _ length of opposite side o
Tangent of ZA = length of adjacent side (T=%)
The letter SOHCAHTOA is a good way
to remember the trig rcios.
For each triang!@wrii¢ Sin A, Cos A and
Tan A as fraclions and 1hen conver! eac!
fractiono ¢ dec/mal (round to#t d.p.).
[=H - -
(& SinA-= 37 —
3.7cm 3.2cm
1.8
CosA= — =_
N
Tan'A = - = A 18:m
A
© JGiNAs ——= & =
3.7cm
CosA=z —— = _ 2.6cm
Tan A= —— = 18cm
Write trig ratios for the following angles,

first asfiractions and then convert each

f E

10 TanAz ——= A
(1) CosC=——= 37
2.9cm rem
(12) SinAz——=
N
C
(19 CosAz —— = B 23cm
¢ The aim of this activity sheet is to use the Pythagoras

& relation to work out the length of missing sides on right
ot T2 angled triangles and introduce trigonometry ratios.

-

Suggested extension activity:

Draw similar diagrams as on this worksheet. Ask your child to work
out the missing side using the Pythagoras relation. Try finding the
length of one of the shorter sides by rearranging the rule to b = a? - c2.
Ask your child to practise writing trig ratios of where the length of two
sides of a right angled triangle are known. On the worksheet 32, the
trig ratios will be used to find the size of missing angles or sides.

Sign when
completed:
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Using trigonometry ratios

Term: Week:

Using either a scientific calculator or trig tables, a trig
ratio can be converted to an angle.

17
Example:  Cos A= —'- = 05862

(adjacent side = 1.7cm, hypotenuse = 2.9cm)

On a calculator, enter B E

(Make sure your calculation is set on 'degrees’. Inv also called 2nd F)

Answer: If Cos A = 05862, then ZA = 54.1 (1 d.p)

1.7cm

Given two sides, use a trig ratio to work out the

size of ZA (rounded to 1d.p.). %

You will need a scientific calculator or trig tables.

A

Use trig ratios to work out the
size of ZBAC & ZACB and the
length of side AB.

©®  ZBAC (round1dp.)

(10) ZACB (round1d.p.) (11) side AB (round 2 d.p.)

(12) A 3m!adacr.is leaning against a
2.85m high brick wall. Woike out
the anglc (A) the ladder makes with

the jround. (round to 140p.) 3m

2.85m

A

A 4 iadder leaning agiingt a wall
tiakes an angle of 55°with the ground.
Work out how far (y) tie ladder is
from the bdse of 112 wall. (round 2 d.p.)

(13)

/
am' 4

! 4

55°

1 3
@ 4.2m 1.9m ® 14.3m
A 12.7m
16.2m _

@ @ ¢

4.3m \4

A

Using either a scientific al'ator or trig tables, all ©iot=s | ‘ -

can be converted to a c'ecimal
Example: sin'3 0s 30° = 0.8660, Tan 20° = 0577

On a calculator, cater Eﬂ@ or E depending o your model.

Find the length ¢! side y (adjacent),
given an angle and a side (hyptrenuse).

0 —
=\

12cm
Answer: Cos 30° =Y/
y = 120 Cos 302 I ) B
= 10350 2dp) Y
Given an ang'e and one side, use a 119 ratio 1o work

D.

out the lengihi @i sidey. Rounded in 2

)

4.2m

®
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4.5°

(14) . A plane is climbing at a constant angle of 4.5°.
/ork out how much higher it will be once it has

travelled a further 25km. (round 2 d.p.)

~
. m—— /W 6.5m

A ball is rolling down a 90m sloping drive, as
shown in this diagram. Work out the slope of the
drive. (round 1 d.p.)

(15)

i

i,m.urm

The aim of this activity sheet is to use the trigonometry
@ ratios to work out the length of missing sides and the
ot T size of missing angles.

o

Suggested extension activity:

Draw similar diagrams as in Q1 to Q4, where TWO sides are given.
Ask your child to label the given sides as adjacent, opposite or
hypotenuse and use the correct trig ratio to work out one of the angles.
Draw similar diagrams as in Q5 to Q8, where ONE side and ONE
angle are given. Ask your child to work out the length of a missing
side, using the correct trig ratio.

Sign when
completed:
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Reflection & Rotation

Term:

To rotate a shape or an object, you need an angle
of rotation and a centre of rotation.

Example: The shaded triangle

(object) has been rotated # turn
(90°) clockwise about point C.

The new position of the friangle is

the black shape, called the image. Ic

Draw the new position of each shape after it has been
rotated as directed.

@ 3

Cc

Rotate this shape a
quarter turn (90°) anti-
clockwise about point C.

&) &

Rotate this shape a half
turn (180°) clockwise
about point C.

c TN T
Rotate this shape a 010te this shape a

quarter turn (90°) hd!f tuin (180°) anti-
clockwise about point clockwise about paini €

(5)  The grey shape (¢iiect) has
been rotatet tot ncw position

and.ifi shcdled black (image).

Desciioe this rotation and
name ThZ centre of rotation

For a shape to be '« e ted, there
must be a line ¢© s;mmcrry (m). =

The line ¢t Symmetiy (mirror line;
is often shown as an arrow.

L

Example: Tne shaded triarie |

(object) has been reflectea = its new rﬁ
position, the black triangle, c:/led its image.

Draw the new position of each shape after it has been
reflected in the mirror line.
A ®

@

)

4

4

Copyright ©,007 AWS Publications Ltd

®

M <-po- -

Below are examples of shapes and diagrams that

have lines of symmetry ...
A /

\ / ... but not all chapes
V have li-s oy ~umetry.

—————— >

; .
L @v

i

v

Diaw in the line(s) of symmetry for these shapes.

(11)

(12)

‘( N (13)
W

Ciaw a design in the«. —
top 4 x 4 square of =
this grid. Rotéte.and
redraw yoli desig!
into the three Other
squares.so that the
point in the middle is
‘e centre of your
design.

(14,

Draw a design in the
top 4 x 4 square of
this grid. Reflect
and redraw your
design into the
three other squares
so that the arrows
are the lines of
symmeftry.

USRS (S I B

€-|---—------f------ F---F---F---F>

2 (R DI P

T

) The aim of this activity sheet is to revise rotation and
" @ reflection. Rotations can be described using various

% £ Words and reflections require lines of symmetry.

-

Suggested extension activity:

Looking around your home, ask your child to point out designs that
have been created by either rotating a pattern or reflecting a pattern.
Example: Wallpaper or floor tile patterns.

Ask your child to create their own designs using rotation or reflection
and have them describe how they created their design.

Sign when
completed:
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Enlargement & Translation

Week: AWS ’

Term:

To enlarge a shape (object), a scale factor and a centre
of enlargement are required.

Example:

Shape ABCD (object) - T
has been enlarged —< 1

by a scale factor of 2

& centre O to create

A'B'C'D' (image). - ]

With a scale factor of 2, all corners of ABCD are now
twice as far from the centre i.e. image AB'C'D'.
Example: Corner A is 2 up & 3 right from the centre.
whereas corner A'is 4 up & 6 right.

Enlarge each shape (object) by the given scale
factor and centre O. Label the image corners.

A vector drawn on a grid has direction & distance and
can be described using numbers in the form ...

<x ></ left (-) or right (+) direction
Y

<——up (+) or down (-) direction

Describe each vector using two numbers as above.

o scéle f:ac‘rc:w = :2 0
> 1
= _
|_ ]
O| scale factor = 2 _;_ | N
| KRN
D
A
3 !
i |
| 0 N
| // Y
B = L
\ L~ Ij _|
D | oL F scile factor= |
scale :*"Tor‘ =3 | \akes the si Iesrlnaller:) |

Join the corncrs of the object with corresponding

corners on the image to local The centie of the
enlargement and work out the “cule ractor.
@ A B'
A B \\ \\
D c /
~scale factor r/
R / /
[ L[] ]o ¢
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Example: aq = (:) has been drawn on the grid above.
®) b = ( ) ol \
i c
N <\ %
© c = ( - o4 ek
~ ) J | N
o od | Jhat N
~:i\ ) |
o - () TEpT]
— L 1 |
0 3
(9) Draw m =/4 "2 n =<_3>on‘rh?qr l above.
A vectordsa way o describing how a poini ar£nape has
been moved without being rotated, reflected or

enlaryed. This type of movement is called a translation.

Uescribe how each shapa (¢iect) has been moved
(iiage) using a translationvector. Example: A = A'

_ . .
(10) A = / Vo A ‘ B
-~ ./ A
(11) B - Q ) N B D
T
\\ ~ C'
~ c
(£3) D = < )
A~
(14)  Move this shape by vector E, then by vector F.
10
e <
A 2
-7
<
e —3
¢ The aim of this activity sheet is to revise translation and
* » enlargement. Translation involves sliding the same object
* g to a new position. For enlargement, the shape changes
- -

size but does not slide, flip or rotate.

Suggested extension activity:
Looking around your home, ask your child to point out groups of
objects that demonstrate enlargement or translation.

Example: A picket fence, strips of wallpaper, a line of bottles in a row.

Draw various patterns that involve sliding or translation and using
maths paper, draw designs involving enlargement.

Sign when
completed:
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Mean, median, mode and the range

Term: Week:

AWS

There are three commonly used types of averages
called the mean, median and mode.

©

The mean is worked out by ....

ing up all The scores, then dividing the

Example: Find the mean of 5, 9, 14 & 20.

Answer: 5+9+14+20=48, 48:4=-12, mean=12

Work out the mean for each group of scores and
round your answers to 1 decimal place (1 d.p).

@ 8,53,9,8,6,7,9,12,7

@ 35,56, 69,42,51,32,78

(©) 123,189, 152, 147, 201, 187

@ 15,22,38,19,41,63,19,57

The median is worked out by ...

-
rITing The scores In order Trom smallest 7o larg=st.

As these scores are in order, start countirg one score of f
each end until you reach the middle.

The median (middle) score for this list (5.2

If there is an even number
scores left in the middle

here will be tw

>

f scores

The median is half way beivieen these scores.

Example: 5 5, ¢ 15 (O & 9are in the midc =) «
Medin = 74 (6+9=1515:2 7%)

Work out ti

nicdian for each gioup of scores.

6] 6,7,9,12,7,8,5/3,9 ‘
® 35,56,32,72, 60, 42,51 ) X
@ 3.23,3.89,302,547,301,3.62 AN

® 19,41,535,19,567,15,22,28 a

| (29)

-wo
The mode is the mc:© common score

Example: What is the mode of inese scores?
Mode =3 &9

Note: There can be more than one mode.

13,3,7,9,11, 9, 10,5, 3|

Work out the mode for each group of scores.

The mode is the easiest 'av o 2" t¢ vork out.

© 10,12,10,11,6,14,15,6, 13,10
(10) 16,15,12,14,16,15,14, 11
(11 15.03,15.09, 15.03, 15.00, 15.09
(12) 136,175,127, 168, 166, 171

Knowing the spread (range) of the scores can be
helpful. The range is worked out by ...

Range S highes‘l’ score - lowest score

Example: What is the range of these scores?

10,6,7,9,11,7,8,53 | Range=8 (11-3)

Work out the range of each group of scores.

(13) 37,40,94,63,95,112,54

(24)

106, 73, 66, 154, 93, 42, 174, 21

(1s) 140, 63, 262,27 59, 115, 423

(1) 94,45 115 154,71,33,28

Jod'goes for bike rides in the weekenc
The distances recorded below are indiiometres. =

5, 387,279,52.1,5 4 137,521,348 ',7

17)  For how many \veekenas has
Jody beeri iiding? A
(18) World oul the 'average’ distances afid range for

Joay's bike rides.

2an = N

Median=__ .

Mode = __

Range
Sam pldys a coniputer car racing game. —
The jasiest lap times for each game = /]

are recorded below in seconds.

| 57.2,54.2,58.1,59.3, 60.4, 55.7, 56.3, 57.4, 60.9 |

Work out the ‘average’ lap times and range for
Sam's computer racing game?

Mean =
Median =
Mode =

Range =

e The aim of this activity sheet is to work out the three types
> 4 @ of '‘averages’ (mean, median and mode) and the range for
&% ©@ agroup of scores.

Suggested extension activity:
Collect or create a list of scores (numbers). Ask your child to work out
the three ‘averages’ and range of the scores.

Example: The hours spent playing computer games etc. The weight
of 20 apples. The height of people in your family.

Think about which average is the best to use and why.

Sign when
completed:
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L. A
R{SY Revision - Graphs Term: Week: AWS
This table shows the daily Rainfall N Vehicles past the school gate
. . 20 +
rainfall details for a week, Sunday 6 <= T e
recorded in millimetres. Monday 9 % T
Tuesday 8 T 3
(1)  Complete this column Wednesday 0 The number of cars, T o .
graph using the data in T;;u.rjdoy ? trucks, buses and bikes 10 F $ :
riday L . T
the table. Saturday 2 going past the school in E E
15 minutes was 45. T ¢ e
10 . T e o
1 This dot plot graph T ¢ s
T shows the number of 0
Rainfall 1 cars and frucks. ,
per s | Vehicle types
day
(mm) 1 (10) How many cars ane trucks went past the school
4 gate?
0 b SCHN .
S M T W T F S
@y’ Draw 2 dots on the graph to fepresent the #'s
Days of the week
that went past the gatc.
@  How many millimetres of rain fell on 12)  How many €5%8's ént pas’ the gate? B
Wednesday? | o 8L Fow
. . . 13 G te tha dot ploi above to s m
3  Onwhich day did 7mm of rain fall? & ?mpg € LW ove o S
4 & ¥ bikeswent past the school gate.
(@) For this time of the year, the daily average

rainfall is 8mm. How does this wecis compare?

Pupils in Room 7 have
24 pet cats and dogs.

This pictogram shows
the number of pet cais
Room 7 pupi's hitve.

()  How many pet cats do they have?
()  How many pet dogs d have?
()  Complete the{iictogramalove by drawilig 'dogs

to show hdw.many [uvils have pet dogs

4 lom N

5 7% ([ \\1 )

: |8' 5 l"-l |\ ‘ f/;"':
\\E

This stem & icaf graph
shows the weigh! i
kilograms of pumpkins ina

competition. { 9

®) List the pumpkin weights in order from lightest
to heaviest.

©) Draw a stem and leaf graph for

the numbers in the box.

‘ 14)

This table shows the lowest daily témperatures (°C)
recoried foi i week, starting ofl 5unday. '

|_4‘ & -1°C

2°C | -4 ‘,‘J'- 0°C | 3°C | -2°C

Plot the data.on u iinie series graph, joining each
point with ¢ stiaight line.

Lowest Daily Temperature

5

Days of the week

What were the temperatures
on Wednesday and Saturday?

What is the range of
temperatures for this week?

‘m.‘»m

a® e

Suggested extension activity:

Collect or make up appropriate groups of data that can be displayed
by using the graphs on this worksheet. Ask your child to decide, then
create the graphs which best display each group of data scores.
Example: Weigh 10 kiwi fruit and draw a stem & leaf graph. Draw a
time series graph of the highest daily temperatures of Auckland.
Record the car colours of 36 cars and draw a dot plot of the results.

The aim of this activity sheet is to revise different data
displays - column graphs, pictograms, stem & leaf graphs,
dot plots and time series graphs.

Sign when
completed:
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. . . /l /]
YAl Discrete / continuous data and histograms Term: Week: AWS
Data obtained by counting is called discrete data. 6rouped discrete data and continuous Z =

When there is a large range of data scores, the data
can be organised into groups (class intervals) using a

frequency table. T T T rereeney
Example: The results of a 'ﬁmo -4 | 1
class test are shown in this 5-9 mr 5
frequency table. 10-14 | A1 6

. 15-19 [ #r I 8
How many pupils scored 2024 | 3
between 10 and 14? 25-30 | 5
How many scored exactly 22? 28

data can be displayed in a histogram.
A histogram is like a column
graph without the gaps.

Class test scores
10 T

Frequency 4

Example: Grouped
discrete data for a
class test is shown in
this histogram.

How many pupils scored

between 20 and 24? 0 5 10 15 20 25 30

Answers: 3 pupils Te ' scores

Answers: 6 pupils, impossible to work out (3 pupils scored 20 - 24)

In a poster drawing competition, pupils were given a
mark out of 100, as recorded in the box below.

a ™
19, 57, 89, 75, 46, 22, 91,
48, 35, 52, 68, 73, 58, 69,
46, 79, 92, 50, 78, 83, 90,
37, 15, 37,63, 85, 84, 72, | 60-
81, 62, 41, 55, 78, 87, 27 | 80-

N
men

Score

Tally F

0-
20 -
40 -

(1)  Organise this data using the frequency Table.
(@  How many pupils scored aliove 0
(®  How many pupils scored l2se vhan 40?

Other data is obtrired o measuring and cc' ‘ak: on
any value. Thic ty; > o Lata is called con®inucii= < ata

and can/so he oi'jinized using a frequency table.

|__|

Answers: 15 pupils (7 + )

Oranges ar 2 gradad by their weight.

Examp/e.' e ’d/.‘ghf 0pr/p//5' Fet .|t-‘TaIIy Frequency

in Rm 8 are snown in this. B TSEEET -

frequency table. 12m- | 4_‘ ]H
. ‘ 1.3m- | W -

How many pupils ar= tc'ler Tam T

than 1.4m? 1.5-1.6m| Wl

Below are tii2 weights in grams of “ame nranges.

/80.8, 95.3, 81.6, 82.4, 90.7, | We
94.9, 89.4, 93.7, 95.9, 86.1, l{ 0

94.5,102.7, 87.8, 90.3, 89.8, oo —
95.2,83.4,94.9,96.7,99.7, [0
91.8, 97.1, 88.4, 83.5,95.3, [950

88.1, 100.9, 93.2, 91.9, 82.3, | 100+

. 86.5,91.3,99.3,92.1,84.9

Organise this data using the frequency table.

&

5) What is the heaviest orange that could be g 8
inthe 85.0 - group? =

(6)  Only oranges weighing over 90.0 but under 100.0

grams are for export. How many of
these oranges will be exported?
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The histogram ficlaw s.
of a cross-couiitry race.

vs the results

(7« How many iunners o
tooi1Css than 31 1

minutes?

) How many runiiars 1
tool morz than
minufes? +

)
o't

31 34 37 40
Time (minutes)

Drawing competition marks

(9) . <complete this

histogram for

the data ifi ¢/ 1's Frauency
frequeiicy fablc. 5
(10) < 1n the space below,
araw a histogram for
the data in Q4's 0 20 40 60 80 100
frequency table. Marks out of 100
™™ The aim of this activity sheet is to learn the difference
% @ Dbetween grouped discrete and continuous data, use a

«% @ frequency table and draw a histogram.

Suggested extension activity:

Ask your child to collect discrete data that can be grouped or
continuous data that involves measuring. Sort the data into groups
(class intervals) using a frequency table and then draw a histogram.
Example: Weigh 20 potatoes or onions using kitchen scales. Make up
4 or 5 groups and sort the weights into each group, then draw the
graph.

Sign when
completed:
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Box & Whisker graphs and Pie graphs

Term: Week:

A list of scores can be graphed as a box & whisker graph,
using the highest and lowest scores and working out the
median, lower and upper quartiles.

Example: 12, 14, 16, 17, 20, 21, 23, 24, 28, 32, 36

40 | <——Highest score (HS)

<——Upper quartile (UQ)

Scores

<——Median (M)
| <——Lower quartile (LQ)
i <—Lowest score (LS)
(1  For each graph, state the lowest and highest
scores, median, lower and upper quartiles.
20 1
T ‘ ‘ Graphl  Graph?2
+ LS
0+ LQ N
T ‘ M
T uQ
o L HS
Graph1 Graph 2 — — —
Pupils in Room 8 sat two tesis, The test was

out of 20 and the resulfs are shown below.

7
45 -]

€ .9,10/10,12,13,14,15, 15,17 18

Test 1

—— A
e U

.19, 20

1; 1/

Tesi J 10,10, 12, 13,14, 4, 14, 12
) For each rest, state the lowes' and highest
scores, median, lowe: and-upper quartiles, then
draw the box & wiiisker oraphs.
20 i
Te. ‘ jest 2 .
LS Score :l:
LQ .+
M
UQ
HS
Test 1 Test 2
results  results
3) Comment about the two test results.
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This pie graph has been drawn using a protractor.

Example: If a quarter of Room 8 pupils have brown
eyes, draw the pie graph sector to show this. _
Draw a circle with a compass and mark in a
radius. There are 360° in a circle.

The sector size would be ... + x 360° = 90°
Draw the sector with a protractor,

using the radius as one side of the sector.
Other sectors can be drawn if you have the data.

(@  Draw a pie graph with
the sector angles of

55°, 80°, 105%.and 1-0°.

(6) Ina pie griaph a sector
anglé was 1207, What
fractionof the graph

does that represent?

In a pie graph a sectoit angle was 216°.
Whatpercentage oi the
graph does tha' represent?

A local shop sold 160 t-shirts. The table below
shows the number of each <ize sold.

Werk out the sector angies required to draw a
pie graph. The fifst caiculitiion is done for you.

——
F l‘ Sector angle size calculation
—“_— -

S 40 | 160 = Y4, sector angle size = %/, x 360° = 90°
M 1)
| 30
XL |20
160

@

T-shirt size

@)  Draw the pie graph
using the sector angles
worked out above and

create a key below.

‘W Key: T-shirt size
[1=s []=w
=t [=x

L]

\ The aim of this activity sheet is to create a box & whisker
" @ graph from a list of scores and accurately create a pie

at #2 Oraph.
Suggested HOME activity:
Collect or make up appropriate groups of data that can be displayed
by using the graphs on this worksheet.
Example: Measure the length of 20 leaves and use this data to draw a
box & whisker graph of the results.
Draw a pie graph to show what activities you got up to in a 24 hour
period ... such as 8 hrs sleeping, 1hr playing soccer etc.

Sign when
completed:
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Probability calculations

Week: AWS ’

Term:

The relative frequency or experimental probability of an
event occurring is the fraction or proportion of times the
event occurs.

Example: In an experiment, two coins are tossed 100
times (100 trials). The event recorded was, How many
times two tails occurs’ This occurred 27 times.

Number of times the event occurs

Total

Relative frequency = b trials
er of tria

In the experiment, the number of trials was 100, the event
occurred 27 times, therefore the relative frequency or
experimental probability of the event was %”/iq0.

For equally likely outcomes, the probability of the event
occurring can be worked out using the following ...

Numger o! ways ‘rﬂe event can occur

Theoretical probability = Total b + -
ﬂ

Example: If a coin is tossed 500 times in the air, how many
times would you expect it to land on tails?

There are only two outcomes ... heads or tails.

The theoretical probability of the coin landing on tails is 1
chance out of 2 or  or 0.5, written as P(tails) = %.
Answer: % x 500 = 250 times.

All probability values rare between O and 1.

In an experiment, three coins |Eyent Tally F (0 = can never occur 1= " < ways occur).
Wiri tossed '2 Thefﬁ'r an‘d TTT | M A bag contains 5 red, 3 wnite, 4 blaCk@nd 8 gieen
what appedred on The coins blocks, dli Tre saime size.
(in any order) when they TTH | A '
landed is recorded in this THH | I . How many blocks in this bag:
frequency table. i 11 .
q Y HHH (10) A block is selected iion the bag. Work aut the
Total:| ¢/ | theoretical pitbaLlities of these events.
A
(M  How many trials were in this experiment Write yolir aiiswers as a fraction ancta dacimal.
(2  Work out the relative frequenc PBiack)=
of the event TTT. '
(®  Work out the relative frequency t(green) = a
of the event HHH 3 P(red hited
red or white) =
(4 Which event had a relatt
frequency of /57 A P(white, (recn offred ) =
()  If the three coitsivere tossed 120 times, how )
man} times would you expect P(pinklz
> ?
the Q€nig!HH to occur? 11) " WWiich coloured block has a theoretical
Use the frequency table balow to record results of oiobability of 0.25 of being selected?
your own experiment, fossina four coins 50 times' (2 If ablock is selected, then replaced in the bag,
Evont T e prbe e 100 times. How many Tlmes would
.. - e | you expect it o be a white block?
LARN \ ]| @3 TIf ablock is selected, then replaced in the bag,
TTTH Q A 240 times. How many times would
TTHH | you expect it to be a red block?
THHH h | (14 If awhite block is selected, but NOT replaced in
HHHH the bag, work out the theoretical probability of
; RS
Total: ) selec‘rmg g .black. b.lo.ck nexf Tlme. —
(6) Use the 1-0||y column above to record what . ¢ The aim of this activity sheet is to understand the two ]
. * & Ways of working out probability - experimental and
appears on the four coins after each toss, then 1 . theoretical probabilty.

complete the frequency (F) column.
Note: the order the coins land does not matter.

(m  Work out the experimental probability of each
event. Write your answers in the table.
(8  Based on your results, if the four coins were

tossed 500 times, how many times would
you expect the event THHH to occur?
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Suggested HOME activity:

Make up a bag of 10 different colour blocks, all the same size.
Example: 3red, 5 blue and 2 black blocks.

Ask your child to work out the theoretical probability of selecting each
colour. If a block is drawn and replaced from the bag 50 times, predict
how many times each colour should be selected. Conduct an
experiment and compare the results with the theoretical probabilities.

Sign when
completed:
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Finding outcomes & probabilities

Term: Week:

AWS

An outcome is what happens when you have a choice.
Sometimes finding all possible outcomes can be difficult.
Using a box / grid can help.

Example: Two coins are tossed in the air.

Answer: 4
H T
How many (H,H) = head/head
H | HH | HT | outcomes are (H,T) = head/1ail
there? (TH) = tail/head B
T[TH|TT (T.1) = tailrrail (/7

One of four cards (H, D, S, C) is selected and a six
sided die (1, 2, 3, 4, 5, 6) is thrown at the same time.

1 2 3 4 5 6
D1

'V.

Use this grid to work out all possible@utcimes.
(Write letters / numbers only)

@

(@  How many outcomes are there?

3

Use this information to wor's ouf the following
probabilities of thedz events.

Werite your answers as o fraction and a decima

PH, 4)=__
P(S,

1 elen number) =
P(Any carg,6)=__
P(C or S, odd numbei )= -; =Y
Pc,7)=__ . © »

If a card is selec ted and the die tossed! 100,
how miny ‘imes would you expect the ace of
diamond= and any number to cicut

&

To find the probability of more than one event, such as
P(H, T) or P(T, T) occurring, work out the probability of
each event, then add the probabilities together.

Example: P(H, T) = # and P(T, T) = %, therefore probability
of P(H, T) or P(T, T) occurring is % + % = 3.

A tree diagram can also be used, ¢ i H
named because of its shape. : H <

Example: Two coins are tossed in the air. T
To find all possible outcomes, follow each > 2~ H

. =~ T
branch of the tree diagram .... N
4 branches so there will be 4 outcomes. 15t co .
st coin 2nd coin

H, H),(H T),(T,H&(T,T)
The probability of each event can be added to the tree
diagram ... that is P(H) = 3 and P(T) = 3.
To work out the probability of any event, such —
as P(T, H) in that order, follow the branches A8
of each event and multiply their probabilities.

Example: P(T)xP(H)=%x%=%
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This tree diagram shows the
possible outcomes when a card
is selected and a coin tossed.

(6)  How many outcomes

are there?

What is theproba! lity
of seleciing
any card?

)

What is'ihe probability
of thie coin landing on
neads or tails? _

Write the probacility of each
eveni on the trez diagram.

Use ‘he 11ee diagram to work ou the ollowing
obabilities of these even's.

Write your answers a% d fraction and a decimal.

)

®

P2, T)=

P(4,Hor 1)
P(Any card, T) =

(Sorb, H):=

S

w6, M=

If a card is selected and a coin tossed 240x, how
many times would you expect the 3 of spades and
heads to occur?

(10) Inanother experiment, a die is also rolled after a
card is selected and a coin is tossed (as above).
Work out the probability of ...

P(4 of spades, Tails, 6) =

¢ The aim of this activity sheet is to investigate the use of
*-- » grids or tree diagrams to work out all possible outcomes

and calculate probabilities of various events.
ad e
Suggested extension activity:
Create similar questions as on this activity, using grids or tree
diagrams to work out outcomes and probabilities.
Example: Place 5red, 3 green and 2 white blocks in a bag.

Ask your child to select a particular coloured block and describe the
chance of selecting that block ... 2 out of 10 chances (a white block).

Sign when
completed:
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Addition and subtraction facts presented in this resource:
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9 + 5 14 9 + 6
5 + 9 = 14 6 + 9 =
14 5 = 9 15 6 =
14 9 = 5 15 9 =
8 + 6 = 14 8 + 7 =
6 + 8 = 14 7 + 8 =
14 6 = 8 15 7 =
14 8 = 6 15 8 =
7 + 7 = 14 9 + 7 =
7 + 9 =
16 7 =
16 9 =
1 to 100 Number Matrix:
1 2 3 4
11 12 | 13 | 114
- # D O
21 | 22 L_’b 24 | 25 l 26 | 27 28 | 29 | 30
31 | 32 ‘ 33 04 35 | 36...37 | 38 | 39 | 40
41 4z|43 44 | 45 .46 | 47 | 48 | 49 | 50
51 =2 | B3 .34 |55 | 56 | 57 | 58 | 59 | 60
61 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70
71 | 72 | 73 |74 | 75 |76 | 77 | 78 | 79 | 80
81 82 83 8 (85 | 86 87 | 88 | 89 | 90
91 192 | 93 | 94 | 95 | 96 | 97 | 98 | 99 | 100
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Multiplication & division facts presented in this resource.
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